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Question Paper Format and Marking Scheme :

In this paper total 200 questions and
corresponding answer choices are legible.

Each question carries 4 marks. For each
correct response, the candidate will get 4
marks. For each incorrect response, one mark
will be deducted from the total score.

The Test Paper for NEET comprises of two
Sections. Each subject will consist of two
sections. Section A will consist of 35 Questions
and Section B will have 15 questions. Out of
these 15 Questions, student can choose to
attempt any 10 Questions at most. So, the total
number of questions and utilization of time will
remain the same.
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01.

02.

03.

04.

Deeksha is among

Top 25 Coaching Institute in India

For PRE-MEDICAL entrance exam according

to survey conducted by

INDIA
TODAY

PHYSICS # Section A

Two non ideal 1.5 volt battery are connected
in parallel and 20 Q resistor is also connected
across them. An ideal voltmeter is connected
across resister, its reading is 1.2 V, then internal
resistance of battery is :

(A)4Q (B) 1002
(C) 50 (D)7.5Q

Bulk modulus of a material is 3 x 10° N/m?,
if percentage change in volume is 2% then
excess pressure is :

(A)6 x 10° N//m>
(C)8 x 108 N/m>

(B) 3 x 10° N /m’
(D)4 x 10° N/m>

Statement 1: If in any AC circuit the
impedance is zero, this circuit can be inductive
& capacitive both.

Statement 2: Power dissipated can never be

zero in any AC circuit.

(A)Statement 1 is true, Statement 2 is true,
Statement 2 is a correct explanation for
Statement 1.

(B) Statement 1 is true, Statement 2 is true,
Statement 2 is not a correct explanation for
Statement 1.

(C) Statement 1 is true, Statement 2 is false.

(D) Statement 1 is false, Statement 2 is true.

Two photons of energy 3.8 eV and 1.4 eV. Both
incident on a metal plate having work function
0.6 eV. Find the ratio of maximum speed of
these photoelectron

(A)4

(B) 2
(C)1/4 1

(D)1/2

Deeksha is the only institute
in Western Rajasthan in this List

01.

02.

03.

04.

PHYSICS # Section A

T IR 1Yl 1.5 dlee @ 4 FHMIR H el
g% © 3R 20Q UfREN i 59 4= o1 gon
2| TP IMSY dlecHley Bl UREE A SIS
ST 8, $Ad! Uiedid 1.2V g d d9ed &l
AMfaRe wfaR®r 8FT -
(A)4Q

(Q) 50

(B) 10Q
(D)7.5Q

Udh garefl &1 JATIdT UARUTE  (Bulk
modulus) 3 x 10° N/m? 28, 3fa amgaq H
mfderd aRads 2% © a1 IR ga1d ©
(A)6 x 10°N/m>  (B) 3 x 10° N/m?
(©8x10°N/m? ' (D)4 % 10°N/m?

Statement 1: f¥l AC uRuy &1 gfdeEmer =1
g dI aRuer IR ud ekt 91 &1 Ahar 8 |

Statement 2: AC uRuy ¥ &1 1 wfdd &
I TR B T |
(A)Statement 1 is true, Statement 2 is true,

Statement 2 is a correct explanation for
Statement 1.

(B) Statement 1 is true, Statement 2 is true,
Statement 2 is not a correct explanation for
Statement 1.

(C) Statement 1 is true, Statement 2 is false.
(D) Statement 1 is false, Statement 2 is true.

0.6 eV & BRI & ©ic TR &I BieH fSHa!
ol A 3.8 eV & 1.4 eV B, mufad 81 & ar
I gelagi=l Bl AMHaH ATl BT AU
T DI
(A)4 (B) 2
(C)1/4 1
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05.

06.

07.

08.

09.

10.

Upto what displacement the block will come (5,

to rest?
l t\: u=9.8 m/s
u=0.5 "
2=98 m/s
(A)9.8 m (B) 49 m
(©)19.6 m (D) None of these

Statement 1: Magnetic field can’t change K.E.

and speed of body.

Statement 2: Force due to magnetic field

always acts perpendicular to the velocity.

(A)Statement 1 is true, Statement 2 is true,
Statement 2 is a correct explanation for
Statement 1.

(B) Statement 1 is true, Statement 2 is true,
Statement 2 is not a correct explanation for
Statement 1.

(C) Statement 1 is true, Statement 2 is false.

(D) Statement 1 is false, Statement 2 is true.

A mass of 500 gm is attached with a spring of  07.

spring constant 2 K and another mass of 1000
gm is attached with spring 9 K. Find the ratio
of amplitude in both case if maximum velocity
is same in both cases :

(A)3:2 (B) 2:3

O1:2 (D)3:1

If Q amount of heat is given to system 08.

containing monoatomic gas and work done
by gas is Q/4. Find molar heat capacity.
(A)R (B) 2R

(©)3R (D)R/2

If a body has weight w on Earth, find radius g
of planet having same density as Earth, at
which it's weight will be w/3?

(A)R/2 (B)R/3

© 3 (D)3R

A photon of frequency two time of threshold

frequency is incident on metal surface, 10.

maximum speed of photoelectronsis v,. When
this frequency is 5 times of threshold
frequency, maximum speed of photoelectrons
is v,. If v, = xv,. Find x.

(A)4 (B) 2

©1/2 (D)1/4

e foha AR e faRmraerr 9 a1 Srgan?

l t\: u=9.8 m/s

u=0.5 "
2=98 m/s
(A)9.8 m (B) 49 m
(©)19.6 m (D) None of these

Statement 1: {0 a%g @1 A ol vd a1

DI FEDIY & B gRI 6! gaal Sl Febdl |

Statement 2: O &F & BRI I ATl

o BHIN 977 & oTFad BIdT ¢ |

(A)Statement 1 is true, Statement 2 is true,
Statement 2 is a correct explanation for
Statement 1.

(B) Statement 1 is true, Statement 2 is true,

Statement 2 is not a correct explanation for
Statement 1.

(C) Statement 1 is true, Statement 2 is false.
(D) Statement 1 is false, Statement 2 is true.

500 gm s&HH P Th vl 2 K Row fgdie
qT 1000 gm SFH BT HoT 9 K Ryw Fgdid
B R A ST 2 | 2 Rerfaai 4 afe sifdreds
Tl A & Il AT BT U ST DI
(A)3:2 (B) 2:3
O1:2 (D)3:1

Ife Thel gRAMIfA® T Q ST Sraifyd &R
Q/4 &1 &R B Al NG BT ST IRAT S
P
(A)R
(C)3R

(B) 2R
(D)R/2

. I fddl fie &1 wIR gedt R w B, a1 gl &

T g9 arel U8 @) e sma sy, e
TR BT HR w/3 BFIT?
(A)R/2 (B) R/3

© 3 (D)3R

Bl JMgRT & <1 T[T INIRT BT b BITIH oI
BT AdE IR ATIRIT HREAT ST & | BIerside i
B HRBTH 9T v, B | Od T8 IR el
JMgRT B 5 AT BN 2, AT BIsAdgHl B If
THaq T v, g B | Al V2=XV1(‘[\T X =7
(A)4 (B) 2

(C)1/2 (D)1/4
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11.

12.

13.

14.

15.

Two conducting rods of length 10 cm and 8
cm are connected in series as shown. Find out
thermal conductivity of 8 cm length rod if
thermal conductivity of 16 cm is K.
K K'
100°C R0°C 0°C

<— 16 cm —>< g em—>
(A)K/2 (B) K/4
(O)K/8 (D)K/3
If the magnetic field at center of current
carrying coil is B  and radius of coil is R. Find
the magnetic filled at the axis of coil at distance
R/2 from center of coil.

BO
e (B) 2B,

3
2 2
O|—=|B D) =B

( )( \/g] : @7
Soft Iron is preferred for making ‘a
electromagnet. Why?
(A) High retentivity and high coercivity
(B) Low retentivity and low coercivity
(C) High retentivity and low coercivity
(D) Low retentivity & high coercivity
A nucleus of atomic number 220 decays into
atomic number 105 and 115. If binding energy
per nucleon of reactants is 5.6 MeV each and
product is 6.4 MeV. Find out energy released
in this reaction.
(A)176 MeV (B) 189 MeV
(C) 200 MeV (D)160 MeV
Find r.m.s. current in the following circuit?

200 H
(A)3.5 mA

(B) 350 mA

(C)35 mA

(D)3500 mA @

11.

12.

13.

14.

15.

10 99T QIR 8 THI d1s @I aT ATcdd Bs SN
P9 4 I g8 §, ol b fearn g | 8 W
Ta1E B B b AT ATdbal Sd BT |
Ife 16 FH BT A Areddar K g

K K'

0°C
<—16cm

(A)K/2

(Q)K/8

8 cm >
(B) K/4
(D)K/3

IRIATE! o Hosell foaa! Foar R a1 o=
W gEGIY &5 B, ®, Al 59 gUScll d D 3
R/2 0 W gEHI & BN

(B) 2B

0

2 ) 2
© (g] By ©) 75

g g9® a9 ford 9 g &I R IUART H
foran simar 22

(A) S gRUIRIERT aar S=a- fAfzar

(B) =T IROIRIeAAT qor =g Fmgan

(C) Sz gRvIRIedl qar =g fHanfaar

(D) = gROTRISd qm S=a Fdar

T NS FSEEHT uRA] HHid 220 S URHET]
¥ 105 & 115 % faafed g & | afe fharers
DI IRAIFARIT d47 il 5.6 MeV & TAT SR
@) Ui du Sl 6.4 MeV 2| @ 899
aifafsrar # qad it BRfY -

(A)176 MeV (B) 189 MeV

(C) 200 MeV (D) 160 MeV

=1 oRuyr & o aRT &1 aFf " g 94
BI1? 200 T
(A)3.5mA
(B) 350 mA
(C)35mA
(D)3500 mA

()
o/
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16.

17.

18.

19.

In a potentiometer, balance length for a cell of
emf ¢ is 75 cm. If the cell is replaced by
another cell of emf ¢, and ,then find the
difference between initial length and final
balance length.

(A)15cm
(©)25cm

(B) 20 cm
(D)30 cm

An object of mass 100 gm is released from
rest at height H = 10 cm from free end of
spring. If maximum compression in spring is
H/?2 then value of spring constant is :

(A)120 N/m
(C) 160 N/m

(B) 180 N/m
(D)80 N/m

A drop having mass 10 g is suspended with
the help of an electric field E=4.9 x 10 N/C,
then find the charge on the drop. (g =9.8 m/
s%)

(A)1 x 10-¢C
(©)3 x 10-¢C

(B) 2 x 10-5C
(D)4 x 10-5C

A, B & C of Resistance 2Q, 4Q and 6Q
respectively are connected such that

. . . 22
equivalent resistance is ?Q .

(A) A, B parallel & C series
(B) B, C series & A parallel
(C) A, C series & B parallel
(D) B, C parallel & A series

16.

17.

18.

19.

e faveamdt R v A e faga arss
qd g, @ ford Agee =S 75em 2| IR 39
Ao Bl B 3 A () O uferenfid @
o SRy 1 URMP® T sifc dge orrg |
IR BT :

(A)15cm (B) 20 cm

(©)25cm (D)30 cm

Ife B 9%g &1 g™ 100 gm T 59 RUT
P Th RR A H=10cm $d18 & BT 9IdT 2 |
Ife Ry & fdwan axfreT H/2 & a1 RuT
fadie &1 919 8N

(A)120N/m
(C) 160 N/m

(B) 180N/m
(D)80 N/m

e g el g 10 g @1 fagd & E =
49 x10*N/C& g1 gar 8 feifaa favar
2, T g B HUR AGY BN : (g =9.8 m/s?)
(A)1 x 10-°C (B) 2 x 10-°C

(C)3 x 10-°C (D)4 x 10-¢C
20,40 & 6Q & W9 IR HA%: A, B& C®
ar s P9 yeR Srer 9 f6 goa ufoRe

E

EESICE

[98)

(A)A, BEATRR %HH H qa1 C Siofishq 4
(B) B, C 3oish¥ ¥ & A FHIKR HH H
(Q) A, C #ofishA H & B @HI<OR %A H
(D)B, C 99I=R ¥ # & A 2o+ #

TOPPERS’ TALK

e H T o &g 3 O o H 797 SR S o A 1 oot A1 Tl § S a4 7 0
S HHerd fEes | T et (S, SiqY) | e & o1g o dia Sege A q9 59
A arn o § it w1 e =1 =i A frwa o=,

SHAITANA RAM SANKHALA

MBBS - S.N. Medical College -Jodhpur

RPMT - 1 RANK (GEN)
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20.

21.

22,

23.

The normal reaction ‘N’ for a vehicle of 800
kg mass, negotiating a turn on a 30° banked
road at maximum possible speed without
skidding is Y x 10°kg m/s* Find Y to the
nearest integer. [Given: cos30° = 0.87, u_=0.2]
(A)10 (B) 5

O)15 (D)0.1

Find change in K.E. if a block is displaced from
(1, 2)m to (2, 3)m on applying a force of

F= (2x2i + 3y23')N :
(A) 45.55] (B) 65.45]
(C) 23.66] (D)30.33 ]

Wavelength of incident light is 491 nm- and
stopping potential is 0.410 V, if another
wavelength of &, is incident on same surface,
the new stopping potential is 1.02V. Find A ?

(A)396.166 A (B) 296.166 A
(C) 396.166 nm (D) 296.166 nM

Two coins each of mass 100 grams are placed
one on the other at one end of a meter scale.
The meter scale is balanced at a knife edge at
40 cm mark. Find the weight of meter scale in
grams.

— i .

40cm  ||10cm
(A)400 (B) 800
(C) 1600 (D)1200

20

21.

22,

23.

e 800 kg & AT &T ifder ufafdar aa ‘N’
2, A gardR 30° BT R dfbd ded @ ford
99T el st =t B8R Y x 10°kg m/ 82
ar &1 Mecam guiies #9811 [Given: cos30° =
0.87, 11, = 0.2]

(A)10 (B) 5

(@) 15 (D)0.1

Tferst Suif # gRads sma difc 519 U <dfd
e E=(2x°1+3y’])N q@t wmae (1, 2)m @

(2, 3)ym e | fawenifla fovam ST @ -
(A) 45.55 ] (B) 65.45 ]
(C) 23.66] (D)30.33]

o9 Rl grfcad ¥das 9 491 nm BT UbTe
amafad gar & o R fava 0.410 V BT 7
Ife o dRreed A, omufdd grr B, ar R
fawg 1.02V 81 &, = BIQ?

(A)396.166 A (B) 296.166 A

(C) 396.166 nm (D) 296.166 nM

100 U9 THH & & RIad T & SUR Udh
forefl Mk el & T AR W W o 2| afe

AR ¥bdl Bl 40 om g W Agfora faar sian
2, a1 Wi b BT g U9 H o1 BT

—

40cm  [|10em
(A)400 (B) 800
(C) 1600 (D)1200

Corporate Office : Deeksha Tower - 3, Section 7, New Power House Road, Jodhpur (Raj.) Call : 7413053555 | Deekshaclasses.com
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24.

25.

26.

27.

28.

29.

Half lives two substance A & B of equal mass
10-2kg are 4 sec and 8 sec. respectively. Ratio
of molar mass of A & Bis 1:2. Then find the
ratio of remaining mass at t = 16sec

(A)1/4 (B)1/8
(C)2 (D)1/2

A particle of mass 200g moving in horizontal
circular motion which is tied by a massless
string of length 2m that can bear a maximum
80 N tension. What is the maximum possible
speed with which particle can move on
circular path.

A) 10\/§m/s B) 20\/5m/s
(©20m/s D) 30/2m/s

A parallel plate capacitor is discharging with
rate 1.8x10® C/sec find out displacement
current:

(A)1.8x10°C/sec
(©)1.8x10° C/sec

(B) 1.8x10-° C/sec
(D)1.8x10"* C/sec

A proton (p), a-particle and deuteron (D) are
moving in circular paths with same kinetic
energies in the same magnetic field. Find the
ratio of their radii. (Neglect interaction
between particles).

A)1:4/2:1
O V2:1:1
A block is attached with massless string,

which revolves in vertical circular motion.
Select correct option out of the followings:

B)1:1:\/§

D)1:1:1

(A) Tension is constant every where

(B) Tension is minimum at lowest point
(C) Tension is minimum at highest point
(

D) Tension is minimum at some where in
between

Two identical charge of mass 10 gm and
q = 2 x 107C are separated at L distance on
rough horizontal surface (u = 0.25) and is
equilibrium. Find out minimum value of L.

(A)10 cm (B) 12cm
(©) 24 cm (D)20 cm

24.

25.

26.

27.

28.

29.

31 uerRll A & B e semE 102kg U@ B
ToT fST®T G PTeA HA: 4 sec & 8 sec T |
@ t = 16sec UTATd Fd U GHAI BT AFUTd
R BN I TP AGR AT BT IUrd 1 :

2% :

(A)1/4
(©)2

(B) 1/8
(D)1/2

200g A P U HUT &l HIex owl bl
R B UP RIR R g97 8 &R afds ga o wfa
PRl 2| Al Ig IR AfPHad 80 N &1 g
gET PR Hhell &, dl PUT DI AfBdH aTe S

BT

A) 10\/§m/s B) 20\/5m/s
(©)20m/s D) 304/2m /s

Ush FHIR Uce IiRa 1.8x108 C/sec &I &R
A FRIEARE BT & a1 R aRT S BIfoiy

(A)1.8x10*° C/sec
(©) 1.8x10°C/sec

(B) 1.8x10-° C/sec
(D)1.8x10"2C/sec

Th UICH (p), a-H0T Tl $ggH (D) FHH
TG & H A ST Holl gl ger #
P 2| Al DI ST BT U B

A)1:J§:1 B)1:1:\/§

OV2:1:1 D)1:1:1

TP GV Bl GHAMRN R F SSdHT SHedreR
gty T | GARIT S1dT 8, A FE HAF Bl gqT
P -

(A Rerfadl W =g A 81

('\

(B) fr=1dH favg U g <g=aH BT
(C) SzaaH fd=g R d-ra =g=a¥ 8Tl
(D) g Seerad v e fag @ deg foddl

N

fdrg OX =g B

S ARG BT 57 G 10 gm TAT AT
q=2x107C %, & &fast 98 (u=0.25) W L
R W ARG H -GN AT ®, L BT R
LISESICECIIGIE
(A)10 cm
(©) 24 cm

(B) 12cm
(D)20 cm

Corporate Office : Deeksha Tower - 3, Section 7, New Power House Road, Jodhpur (Raj.) Call : 7413053555 | Deekshaclasses.com
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30.

31.

32.

33.

Find current through the load?

800 O

-L A
10v Sv

T 1 kQ =R,

(A)3mA (B) 2mA

(©)1mA (D)5 mA

Two coherent sources of intensity I, and I,
I1 9 Imax

such that E ~ 4 - Find out I :

(A)25 (B) 16

©)3/2 (D)81/16

The earth is revolving around the sun with
time period of 1 year. If distance between them
is made 3 times. Find out new time period.

(A) Byear (B) 3+/3ycar
(©) 3 year (D)9 year

Heat extracted in carnot engine from source
is 5000 Kcal. If source temperature and sink

temperature are 727°C “and ' 127°C
respectively, then find out work done.
(A)2000 Kcal. (B) 4000 Kcal.

(©) 3000 Kcal. (D) 1000 Kcal.

AIR - 398
IIT - DELHI

MONIKA GARG
o

NAGPUR
GANGA RAM CHOUDHARY

30.

31.

32.

33.

GANDHINAGAR

e | grRT 3d HIfY ?

800 Q2
-L AN
10v T Sv 1 kQ =R,
(A)3mA (B) 2mA
(O 1mA (D)5 mA
. Il 9 Imax
Tl Boll Gag Sdl & for 11 ar 1@
2 min
HIT _EﬁTIT :
(A)25 (B) 16
(Q)3/2 (D)81/16

gl I & @RI 3R Th a9 b Ifaddrd A
Ui Rl | A1 Ile gl vd gI & " g
SIEIIS G IEID I IS DI R CREA I RC R R

(B) 3\/§year
(D)9 year

(A) \3year
(©) 3 year

PN oI FRT Sa A 5000 Keal @ ST
aeifya & o &1 Ik S e Rie &
AroEE A 727°C & 127°C R, @ fhar
BRI BT

(A)2000 Kcal.
(C) 3000 Kcal.

(B) 4000 Kcal.
(D) 1000 Kcal.

T MBBS

SNMC - JODHPUR
MAN JAIN HITESHI BHATI

> &)
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34.

35.

36.

37.

38.

Two wave having same amplitude travelling
in opposite direction undergo superposition
to produce a wave given by y =

.t
A COS X SIHE. Find the amplitude at x

=—cm
A

(A)A ® 75
A A

©5 O 5

Which of the following have some dimensions

(A) Wein's constant and Stephan's constant

(B) Wave No. and avogadro'sno.

(©) Angular frequency and
momentum

(D) Velocity gradient and decay constant

angular

PHYSICS # Section B

In diffraction by single slit, we used two 650
nm and 655 nm wavelengths. If aperture of
slit is 0.5 mm and separation between
cardboard and screen is 2 m then distance
between first maxima of the given
wavelengths?
(A)20 pm

(©)40 pm

(B) 30 um
(D)50 pm

In a carnot engine temperature of sink is 27°C
and its efficiency is 25%, by what amount
temperature of source must be increased to
increase efficiency by 100% :

(A)200°C (B) 73°C

(©)125°C (D)150°C

3 balls are projected from a tower, 1%, one is
thrown vertically upwards with a certain
speed, 2" one is thrown vertically downward
with same speed as that of ball 1¢. 3™ ball is
dropped with zero speed. 1t and 2™ ball take
6 sec. and 1.5 sec respectively to hit the ground.
Find the time taken by 3 ball to hit the
ground.

(A)3 sec.

(©) 9 sec.

(B) 6 sec.
(D) 12 sec.

34.

35.

36.

37.

38.

gfe gaT rare qar fauda feem § wfqeiiar o

ot
T FIRINUT BIAR y = A COS TX sin= T

4 )
&7 i el 2 x =gcm R AdT BT

JTATH S PINTY
(A)A

A
© 7
=1 # & 5 @ g w99 © -
(A)de Fadie dur Rew fHadie
(B) T WA TAT AMARGT AT
(C) ®Ifrr sigfa qar siofig o
(D) ygorar qr & adie

PHYSICS # Section B

Rivtad Rete g1 fagds #, 899 & 650 nm &
655 nm TR <HF HT SYANT fhar| afe BR
(aperture) &1 f5g 0.5 mm & 3R FHSdre 3R
BHT @ §IF @ g 2m T A < T8 R Qe
@ g el & Heg & gnh?
(A)20 pm (B) 30 um
(©) 40 pm (D)50 um

Th I goid d R &1 amgdE 27°C 2 3R
AT T&IAT 25% B, <&Tdl @l 100% de= & forv
GId & d9EE B fhadr 713 | gerEr anf:
(A)200°C (B) 73°°C

(©)125°C (D)150°C

g R | 3 Tid vafd & Sl g, ugell U
P Th [REd T & A1 dgad FUR Bl AR
BT STl B, SO & Bl ddgad - B AR
S AT A P Sl 2| AE AT B BIST
ST 2 | Ugell 9§ Bl SMIH UR UgaH H 6 TS
BT FHY ST & | SR GEI T BT S| R
fee &R & oIy HAS: 1.5 Wb oval & | AR
AT BN S| UR Uga H S ardll 9IS
BIFY

(A)3 sec.
(©) 9 sec.

(B) 6 sec.
(D) 12 sec.
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39.

40.

41.

42,

A particle is projected with a velocity 10 m/s
at an angle 30° from bottom of incline plane.
The angle of the incline plane is 30°. Find the
distance covered by the particle on the incline
plane?

(A)20/3
(B) 10/3
(©30/3
(D)40/3

10 m/sec

Two biconvex lens of radius of curvature 15
cmand R.I.1.5is placed as shown in figure. If
liquid of R.I. 1.25 is filled in between them.
Find of equivalent focal length of this
combination :

(A)15cm
(B) 10 cm
(©)20 cm
(D)5 cm

Two soap bubbles of radii r, and r, equal to 4
cm and 5 cm are touching each other over a
common surface of S, and S, (shown in figure).
Radius of curvature of common surface will
be:

(A)10 S %
(B) 20

(C) 30

(D)40 n=4cm r,=5cm

For a particle moving along X-axis if
acceleration (constant) is acting along -ve X-
axis, then match the entries of Column I with
entries of Column II :

Column I Column II

A. Initial velocity >0 p. Particle may move
in +ve X-direction
with increasing
speed

Particle may move
in +ve X-direction
with decreasing
speed

B. Initial velocity <0 q.

C. x>0 r. Particle may move
in -ve X-direction
with increasing
speed

D. x<0 s. Particle may move

in -ve X-direction
with decreasing
speed

39.

40.

41.

42,

TP HU B 90 ddd A 30° & BT )R yafdd
10m/s @ 9T A far Srar 8 | 7d ad &1 &fast
@ 1T BV 30° B | A T U B b gIRT TI
P S QAT BIIG?
(A)20/3

(B) 10/3

(C)30/3

(D)40/3

QT 99 I (biconvex lens) o= ashdT 5T
15 cm 9T 3MacHid 1.5 81 afed g7a A
1.25 &7 qaHid & &d AT ST a1 ST B
I BIdd g B ¢

(A)15cm

(B) 10 cm

(©) 20 cm

(D)5 cm

S AT & gorgel forTa! B3rar 1, & r, O b 4
cm & 5cm 8, Uh GO bl WY a1 W8 8, e
I Aae FRETgaR 81 Al 9 |dg @l
gpar fear 8l

10 m/sec

(A)10 S %
(B) 20

(C) 30

(D)40 n=4cm r,=5cm

T HY o forg Sl X-ofe & fgfee T PR 8T
g it @Ror (Fe) Romcers X-31e & srgfasT
BRI DR VBT €, d9 GHford P :

ColumnI Column II

A URFNE >0 p. B gATHD X-3AEd
@ faem # 9ed g8
T A Y B FHhar
2

B IATHE  X-37eT
@1 faem ¥ wed gu
T A Y B FHhar
2

BT FUTHD X-3TeT
1 fa=r # ged gu
A T HR Ahar
g

BT FUTHD X-3eT
@1 fawm # ged gu
QT A Y B FHhar

&

B. URf¥& dT<0 g

C. x>0 r.

D. x<0 S.
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43.

44,

45.

46.

(A) A-qr; B-r; C-qr; D-gr
(B) A-qr; B-r; C-1; D-qr
(©) A-qr; B-r; C-qr; Dq
(D) A-qr; B-q; C-qr; D-qr

(A) A-qr; B-r; C-qr; D-gr
(B) A-qr; B-r; C-1; D-qr
(©) A-qr; B-r; C-qr; Dq
(D) A-qr; B-q; C-qr; D-qr
A particle is thrown upward direction acted 43, T& 5 kg &1 BT ™Y HU T 3NN yafg fear
by a constant retarding force of 10 N. If mass AT & R weq 10 N &1 Heeb gl SRId grar
of particle is 5 kg. Find the ratio of time of 3| a Bv B Y 9=IET @97 99l 999 §5g
ascend to descend.

BT AU S DI

(A)V2:43 (B) V3:42

A) V2 :4/3 B) V3:42
©2:3 (D)3:2 EC)) 2\/._3 V3 ED)) ;/._2 V2
Alightray is incident on glass slab of || = NG 44, TP TERE BT FRA 3 om ST @ @
and thickness 3 cm at an angle of incidence gfeedr R 60° 9R ufdd BT B | ?Ilﬁ I @
60°. Find out lateral displacement from slab. ’

ufeedT BT | =+/3 &, @ afeedr & forl wide
() V2em (B) V3em faxernu sa R -
(©)3cm (D)2cm

(A) V2em (B) \/3cm
Two identical capacitor with charge Q and Q (©)3cm (D)2.cm

+ 2respectively. If potential energy of second
capacitor is 144% of first capacitor. Find out’ 4o = = THHT FERET TR S BAT: Q & Q + 2

%SC - 2 o fgd JaiRa @1 Refas waif gom we
(A) () TR @Y 144% &, T Q BT A ST BV
()15 C (D)14 C a)5C 5 10.C

A projectile is thrown with some initial O15C (D)14 C

velocity at angle 45°. After 2 sec. it's speed is
found to be 20 m/sec. Find maximum height ~ 46. f& U8 Pl HB UIRWS a1el I 45° TR gaifid

attained by particle : far Srar 71 AR 2 sec uwEnd S| =TA 20
(A)10 m (B) 15m m/sec 8, Al B gRT U 3fIbad Same e
(©20m (D) 20+/2m PITC -
(A)10m (B) 15m
(©20m (D) 20+/2m
[ E N XN

WESTERN RAJASTHAN TOPPER

JEE(Main) HARDIK VARSHNEY
AIR (GEN) TOTAL PERCENTILE

99.97

Phy - 100 - Chem - 99.74 - Maths - 99.94
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47. A 1.5 kg hammer with speed 60 m/s hits the

48.

49.

50.

1
100 gm nail. Heat given to nail is Zth of the

energy of hammer. Find change in

temperature (in °C). (specific heat
0.45J  450]

g—°C - kg—"C)

(A)15 (B) 1.5

Q)75 (D)10

A charge ‘q’ is revolving in a circle of radius
‘r’, around a uniformly charged solid cylinder
of radius ‘R’. Charge density of cylinder is p.
Find K.E. of charge.

pR’ pR’
(A) 4e, (B) 2¢e,

pR’ 5 2pR*?
© (D)~

0 0

Potential energy of two atoms is given

by U=—5——. Find r at which P.E. is
minimum?
2A 1/5 A 1/5
SEF el
C (A jl/S D £2B jl/S
© |55 O)|

The specific resistance p of a circular wire of
radius r, resistance R and length / is given by

_mr’R
P="
1Q, and 7 = 4.80 + 0.01 cm. The percentage
error is p is nearly :
(A)7%

(©)13%

.Givenr=024+£0.02cm, R=30 +

(B) 9%
(D)20%

47. TP 1.5 kg BT BAST 60 m/s B! a1l F 100 gm

48.

49.

50.

1
P DIl W SIHIAT 2 | I BATS BT Zthwf

P DI WIFART BT Sl & ol Bl & a9 &
gRads =1d BT (in °C). (fal¥re AT

0.45] _ 450J
griRar 0—°C  kg—°C )

(A)15 (B) 1.5
Q)75 (D) 10

‘q ST BT U YT Udb UHHAT AR ST
Jo e e R e, & aRpIR v’ B &
gATHR U H TRT HIAT 2 | A I BT 371
g9 p B, AT I DI TS ol S HIRTY -

pR’ pR’
(A) 4e, (B) 2¢,

pR’ 5 2pR’
© (D)~

0

A
& WAl & 7eg Refest o U = 0]
GR1 & STl 2 | a1 fhaaE & ford Rerfast

Foll FAaH B8R
A 1/5
(B) (g]

2A 1/5
S5

A 1/5 2B 1/5
© (gj (D) (Tj

U%h dadR dR & Aaf¥re ufajer p & B r
nr’R
‘
2| faam gam 8r=0.24£0.02cm, R=30 £ 10,
qoIm ¢ = 4.80 £ 0.01 cm. p & ufdwrd Ffe 9T
grfY
(A)7%
(C) 13%

B
s

2, IR R a7 owa1g (€ S99 AR p =

(B) 9%
(D)20%
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51.

52.

53.

54.

CHEMISTRY # Section A

Which of the following oxides is not expected
to react with sodium hydroxide?

(A) CaO (B) SO,
(C) BeO (D) B,O,

Property of alkaline earth metals that increases
with the atomic number :

(A) solubility of their hydroxides in water
(B) solubility of their sulphates in water
(C) ionisation energy

(D) electronegativity

Match Column I with Column II for the
compositions of substances and select the
correct answer using the codes given below :

Column II
(i) CaSO,.2H,O

Columnl1
A. Plaster of Paris

B. Epsomite (ii) CaSO,.'2H,0
C. Kieserite (iii) MgSO,.7H,O
D. Gypsum (iv)MgSO,.H,O
(v) Caso,
A B C D
(A) @) (1) M (i)
(B) (i) (iii)  (iv) @)
© @ (i) (i) (i)
D) ) (i) (i) )

Which one of the alkali metals, forms only,
the normal oxide, M,O on heating in air ?

(A)Na (B) Rb
OK (D) Li

dlelT & Ug g0 vd €l ufeare
o dlel F& 21s3s

Jeecieug
3ffaiairam) &1 fadid
yﬁfﬁsmwﬁﬁ?ﬁwa&nﬁm?ﬁm
Tﬂﬂ W de. El'l'q?f m

CHEMISTRY # Section A

51. fywafafrd sfedarsst § feasl, aifeyn

52.

53.

54.

Prem K Choudhary
IIT - KHARAGPUR

gIgsiaITss 3, fhaT BT &I FW1a-T T8l 27
(A)CaO (B) SO,
(C) BeO (D)B,O

273

&I HaT e1gall BT 98 U1 Sl URATY] HHib D
AT Fedl B

(A)STa BSgaags) & od H fdermar

(B) I Hewel Bl Sl H fderar

(C) AT Hedl
(D) fagga onca]
AT PITY JoIr el e &1 o= IR -
Column I Column IT
A wifey sl IRE () CaSO,.2H,0
B. sWIHTST (ii) CaSO,.2H,0O
C. FIoRIge (iii)MgSO,.7H,0
D. foreqs (iv)MgSO,.H,O
(v) CasO,

A B C D
(A) (i) (iv) (i) (i)
(B). . (i) (i) (iv) (1)
© @ (i) (iii) (iv)
D) (v) (i) (i) (1)
Vel el & 3ifaargsi H 6y 1g & ifass
Bl BT H q@ PR W, WHEN derss, M,0
U<t BT © ?
(A)Na (B) Rb
(O K (D)Li

Harish Choudhary | Kavita Choudhary
NIT - CALICUT IIT - KHARAGPUR
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55.

56.

57.

58.

59.

60.

61.

62.

63.

Be?* is isoelectronic with which of the

followingions?
(A)H* (B) Li*
(©) Na” (D)Mg**

IUPAC name of [Pt(NH,),Cl ] is:
(A) diamine dichloro platinum (II)
(B) amine, chloro platinum (III)
(C) chloro diamine platinum (II)
(D) None of above

Which of the following complex neutralises
three molecules of AgNO, :
(A)[Co(NH,)ICL,  (B) [Co(NH,).CIICL,
(C) [Co(NH,),CLICI (D) [Co(NH,),CL]

Which of the following does not show optical
isomerisation :
(A) [PY(NH,),CL]
(©) [Co(en),J**

(B) [Co(ox),]~*
(D) [Cr(diph),J**

The d-block element consists mostly of :

(A) monovalent metals

(B) all non-metals

(C)elements which generally
stoichiometric metal oxide

(D) many metals with catalytic properties

form

During smelting an additional substance is
added which combines with impurities to
form a fusible product which is known as :
(A) mud (B) slag

(©) flux (D) gangue

For the conversion of CH,=CH, into HOOC.
CH,CH,COOH, the minimum number of
steps required are :
(A)2
©4

(B) 3
(D)5

The correct order of boiling point of ethyl
dimethyl amine (A), n-butyl amine (B) and
diethyl amine (C) is :
(A)B>C>A
(©OA>B>C

(B)B>A>C
(D)C>B>A

Grignard reagent is not prepared in aqueous
medium but prepared in ether medium,
because :

(A) the reagent is highly reactive in ether

(B) the reagent does not react with water

(C) the reagent becomes inactive in water

(D) the reagent reacts with water

55

56.

57.

58.

59.

60.

61.

62.

63.

1 amrae § 9 Be? fhad IHgdS D ©?

(A)H* (B) Li*

(C) Na* (D)Mg*

[Pt(NH,),CL] @1 IUPAC 94 & :

(A) STSUHH=IgFARICACHA (1)

(B) VHFgRwifeH (I10)

(C) FARTSTgUHIA (1)

(D) SWIad # & HIg &l

=1 # | BlF—ar HHR, AgNO, & = sl

P ISR BT

(A) [Co(NH,)JCL, — (B) [Co(NH,),CI]C,

(O [Co(NH,),CLICT (D) [Co(NH,),CL]

/=1 5 9 B9 yeriy gaaygar yeiia a8l

PRAT &

(A) [Pt(NH,),CL] (B) [Co(0x),]~°

(©) [Co(en),]** (D) [Cr(diph),]**

d-<ife acl # Sifddier:

(A)TH HAST a1y ©

(B) WY gy ®

(O)F I 2 S HAERd: ERfhamg a1g
SfaaIgs T 2

(D) &S Ul gl & R4 SIR® T 8

YT fhaT & ST U d1ed UaTef STel WR a8

FYfGAT & A1 HYH BIHY Ub Mg gared

gq1ar 8 Siifs wEerdn §

(A) (B) BTgHe

(ORIGED (D) 3TerT=

CH,=CH, & HOOC. CH,CH,COOH #

HUKIRG B & (Y MaeId =[ATH Ual Bl

& ©

(A)2 (B) 3

(©)4 (D)5

Ui SRARE U (A), n-&gfed VA (B) deI1
SISV U (C) & FaIh! P Fe! HH o :
(A)B>C> A (B)B>A>C
(©OA>B>C D)C>B>A

e aif@se &1 At Sar @ SuRerfay #
fBar i@ ©, Steli wegs 9 981, ®fd
(A)3FHHD, SR H ra® fharfiar ©

(B) ifdH®, STt & Afwfrar gl wear @

(C) aifH®, STt # 3rfa IgaT @

(D) 3ifdH®, STt A AfAfhar wRar @
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64.

65.

66.

67.

68.

69.

70.

Which of the following has sp*-hybridisation?
(A)CH, (B) C,H,
(C) BeCl, D)CH,

An alkene having the molecular formula C;H
on ozonolysis gives 2, 2-dimethyl propanal and
butanone. The alkene is

(A) 2,2, 2-trimethyl-3-hexene
(B) 2,2, 6-trimethyl-3-hexane
(©) 2, 2, 4-trimethyl 3-hexene
(D) 2, 3, 4-trimethyl-2-hexene

S, 1 reaction is feasible in :

A)>—Cl+KOH —
Cl
®) A/ +KOH—

o e
(D) @CHzCHzCI + KOH —

When 2-butyne is treated with dil H,SO,/
HgSO,. The product formed is :

(A) butanol-1 (B) butanol-2
(C) 2-butanone (D) butanol

Solid CLO, exists as :
(A) ClOz*ClOZ
(©) (C1O,),

(B) Covalent species
(D) None

The property of halogen acids, that indicated
incorrect is :

(A)HF > HCI > HBr > HI.......acidic strength
(B) HI>HBr> HCI > HF......reducing strength
(C)Hl > HBr > HCI > HF......bond length
(D)HF > HCl > HBr > HI .....thermal stability

The ease of liquefication of noble gases
decreases in the order :

(A)He > Ne > Ar > Kr > Xe
(B) Xe > Kr > Ar > Ne > He
(O Kr > Xe>He > Ar > Xe
(D) Ar > Kr > Xe > He > Ne

64.

65.

66.

67.

68.

69.

70.

= H 4 B sp-HaRa 82
A)CH, (B) C,H,
(C) BeCl, (D)C,H,

UH Yodbid &1 Adges §F CH, 2| I8
M-I TR 2, 2-STgHfd UIU—eT el
Al 21 Vel 2 ¢

A)2, 2, 2-ZTSHRIA-3-2AA

(B) 2, 2, 6-CTSHIATA-3-2T

(C) 2, 2, 4-STSHRIS 3-2aRIA

(D)2, 3, 4-TTHIIA-2-2RA

S, 1 aiffspar e # wwig 2
(A)>—Cl + KOH —->

(B) NCI +KOH ——

© @Cl + KOH —
(D) @CHzCHzCI + KOH —

9 2-gers @l fhar a9 H,S0,/HgSO, &
BRI & U I<dTe 8

A)gcHra-1 (B) cHTa-2

(C) 2-gHI= (D) A

31 CLO, v&dm 8
(A)CIO,"CIO,

(©) (CIOy),

(B) weEash e
D)FE T

AT 37l BT PIFAAT 0T, ST ITeAd <L
TAT B

(A)HF > HCl > HBr > HL.......37la ey
(B) HI > HBr > HCl > HF.......3/q=dd &l
(C)H1 > HBr > HCI > HF..... 39 &g
(D)HF > HCI > HBr > HI ....drd1g w1

gl 19 & TSI BT Hedl HH ©
(A)He > Ne > Ar > Kr > Xe
(B) Xe > Kr > Ar > Ne > He
(C)Kr > Xe >He > Ar > Xe
(D) Ar > Kr > Xe > He > Ne
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71.

72.

73.

74.

75.

76.

77.

Which one fo the following is a correct pair
with respect to molecular formula of xenon
compound and hydridization state of xenon
init:

(A) XeF,, sp?
(C) XeF,, sp’d

(B) XeF,, sp
(D) XeF,, sp?

Two electrons occupying the same orbital are
distinguished by :

(A) Spin quantum number

(B) Principal quantum number

(C) Magnetic quantum number

(D) Azimuthal quantum number

Natural rubber has :

(A) Random cis- and trans-configuration
(B) All cis-configuration

(C) All trans-configuration

(D) Alternate cis- and trans-configuration

Which one of the following orders is correct
for the bond dissociation enthalpy of halogen
molecules?

(A)F,>Cl,>Br,>1, (B)I,>Br,>Cl, >F,
(©Cl,>Br,>F,>1, (D)Br,>L,>F,>Cl

Lithium has bcc structure. Its density is 530
kg m~? and its atomic mass is 6.94 g mol~".
Calculate the edge length of a unit cell of
Lithium metal. (N, = 6.02 x 10> mol ")
(A)264 pm (B) 154 pm

(C) 352 pm (D) 527 pm

The ionic radii of A* and B~ ions are
0.98 x 10~ m and 1.81 x 10~ m. The
coordination number of each ion in AB is :
(A)2 (B) 6

©4 D)8

At 100° C the vapour pressure of a solution of
6.5 g of a solute in 100 g water is 732 mm. If
K, = 0.52, the boiling point of this solution
will be :

(A)103°C
(©)100°C

(B) 101°C
(D)102°C

71.

72.

73.

74.

75.

76.

77.

frafeRed 4 & @F@r g™, 5EE 3ife &
3R 9 IAH SURYT FHIT & e H L B

(A) XeF,, sp’
(C) XeF,, sp’d

Tl Solag S b U 8 defd H g | S8 SRR
frad gR1 far S 9dar g

(B) XeF,, sp
(D) XeF,, sp?

A) Ul FaicH ARl

B) HXU ddicH XAl

(

(

(C) gD FIcH A

(D) fawreig wdicH e
PICARCARCNE I

(A) AIHAT cis- Ud trans-fa=m< @
(B) ®¥T_cis-fa=a1d &

(C) |1 trans-fI=a04. &

(D) UHT<R cis- Qd trans-fa=d 2

fAefaRad o 1 P19 9 SIS AVl Bl 3fae
e vedl & fold el 22
(A)F,>Cl,>Br,>1, (B)L,>Br,>Cl,>F,
(©ClL>Br,>F,>1 (D)Br,>1,>F,>CL

ferfm™ 1 bee HeFAT 81 g1 " 530 kg
m~ T YRATY] F&FHIA 6.94 g mol -1 7 | forferaa
g1 & Ubd PIBHT & PR b awrs & (N, =
6.02 x 10% mol1)
(A)264 pm
(C) 352 pm

(B) 154 pm
(D) 527 pm

A*Td B- MA@ mMafd A e
098 x 10-°m Td 1.81 x 10-°m &| AB #
JAP 3T Pl STHEHATSTT A& §

(A)2 (B) 6

©4 (D)8

Uh 6.5 ¢ fdeld &1 100 g STt H fAeraga &1
100° C R 1% g@ 732 mm & | AT K, = 0.52
al 39 fAergd &1 gaHlie BI :
(A)103°C (B) 101°C
(C) 100°C (D)102°C
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78.

79.

78.

79.

Which of the following statements about

hydrogenis incorrect?

(A) Dihydrogen act as a reducing agent

(B) Hydrogen has three isotopes of which
tritium is the most common

(C) Hydrogen never acts as cation in ionic salts

(D)Hydronium ion, H,O* exists freely in
solution

Which of the following statements about the

composition of the vapour over an ideal 1 : 1

molar mixture of benzene and toluene is

correct? Assume that the temperature is

constant at 25°C. (Given, Vapour Pressure

Data at 25°C, Benzene = 12.8kPa, toluene =

3.85kPa)

(A)Not enough information is given to make
a prediction

(B) The vapour will contain a higher
percentage of benzene

(C©)The vapour will contain a higher
percentage of toluene

(D) The vapour will contain equal amounts of
benzene and toluene

f=fiRad & & ®IFAr 29 glgsiod & fou

IR B2

(A) BIESISH AUARIH S w9 H BRI BT 8

(B) BIgQIGH & o Wi e & fgd 9
crsfead ygrar # 2

(C) BTgSIo e oaoll # g H1 avE
FgER Tl HAT ©

(D) erggifas amg+, H,O* &1 iRk faera= 4
qad w4 H BT

d=oi Td i @ 1:1 el AreR fAsor &
e Ao b oy ffeRad § @ wiewr
FIT T 8? BT B b dgAN 25°C W
ReR 21 (Y W 9w I@ 25°C, 9= =
12.8kPa, €[4 = 3.85kPa)

(A) IS FAATAT & BROT Dlg YAIJAF T8l
SR ST HHhaT B

(B) arsg ¥ =i @I 31y ufcreradr grft
(C)ary H Tlefg &I 3ffed yfceradr srft
(D)ar H §HH A3 H Il 4 efefg s8Rl

 WESTERN RAJASTHAN TOPPERS

DIXIT SUTHAR

AIR - 601
IIT - DELHI

DIXIT SUTHAR
AIR - 147
AlIMS- JODHPUR

3

JETHA RAM
AIR - 206

\_ VMMC - DELHI -/

.

J

LR
LR ]
LR ]
LA Al
aen
sew
LE N ]
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80.

81.

82.

83.

84.

Consider the molecules CH,, NH, and H,O.
Which of the given statement is false?

(A) The H—C—H bond angle is CH, is larger
than the H—N —H bond angle is NH,

(B) The H—C—H bond angle is CH, the H—
N—H bond angle in NH, and the H-O—
H bond angle in H,O are all greater than
90°

(C) ThenH—-O—Hbond anglein H Oislarger
than the H—C—H bond anglein CH,

(D)The H—O—H bond angle in H,O is
smaller than the H—N—H bond angle in
NH

3

Match the compound given in column I with
the hybridization and shape given in column
IT and mark the correct option :

Column I Column II
(a) XeF, 1. distorted
octahedral
(b) XeO, 2. square planar
c) XeOF, 3. pyramidal
d) XeF, 4. square pyramidal

B)a-1; b-3; c-4; d-2

(
(
(A)a-4; b-1; c-2; d-3
( D)a-4; b-3; c-1; d-2

(
C)a-1;b-2; c-4;d-3  (
Which of the following statement is false?

(A)Mg?* ions are important in the green parts
of plants

(B) Mg?* ions from a complex with ATP
(C) Ca** ions are important in blood clotting

(D) Ca?*ions are not important in maintaining
the regular beating of the heart.

Which one of the following characteristics is
associated with adsorption?

(A)AG and AS are negative but AH is positive
(B) AGis negative but AH and AS are positive
(©) AG, AH and AS all are negative

(D) AG and AH are negative but ASis positive

The pressure of H, required to make the
potential of H,-electrode zero in pure water
at 298 Kis :

(A)10.4 atm
(C)10.12 atm

(B) 10.14 atm
(D)10.10 atm

80.

81.

82.

83.

84.

CH,, NH, 3R H,O a1vsii & forg =ira faa 3

DHAAT H H DI A 372

(A)CH, ¥ H—C—H 3§ @ror, NH, § H—
N—H 3f&e 31U 4 3Afdd &

(B) CH, ¥ H—C—H afr§er &ror, NH, § H—
N—H afr@g @ior g1 HO ¥ H-O—-H
3fT&er Bior, T H 90° | Afdd 2

(OH,0 ¥ H-O—H am&g &, CH, #
H—C—H 37dy 317 & 31fdd 3

(D)H,0 ¥ H-O—H 3§y &, CH, H
H-N—H 3§y HIvr 9 &9 3

Column 1 # & T il 1 I HHIT T

MBHR ST fd column IT 3 A T & &I FaR

qT He! fAdbeu o1 fRafed HIfoy

Columnl Column II
(a) XeF, 1. Red IchAb
(b) XeO, 2. I |HGA
(c) XeOF, 3. o
(d) XeF, 4, T fORIfEEY
(A)a-4;b-1;,¢-2,d-3  (B) a-1; b-3; c-4; d-2
(©) a-1;b-2;,c-4;,d-3 (D)a-4; b-3; c-1; d-2

fFafRad § @ S BT A 22

(A) Mg 3 didi & 8Ra Wil & ford #eeayel
g

(B) Mg? i< ATP & W1 |l a9 ©

(C)Ca?* 3T g BT oM & ford Agwagol ¥

(D)Ca?* ¥4 g3 Wi &I Frafdd e H
HAEAYUl T8l 7

fr=forRaa <teront A | Si=ar srferenyor |

g 8?

(A) AG TT AS FRUTTHS offchd AH T Il
g

(B) AG FUITH® offdhd AH Td AS g-THS BId
g

(C) AG, AH TG AS 941 FUITcA® BId ®

(D)AG Td AH R UIIA® cifdbs AS B-ITcHS BIdT

&

298 K R Y& Wi ¥ H, geidere & fava =i
FRA S o awdd H, &7 204 © :

(A)10.4 atm (B) 10.14 atm
(©)10.12 atm (D)10.10 atm
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85.

86.

87.

88.

89.

90.

91.

92.

The addition of a catalyst during a chemical
reaction alters which of the following
quantities?

(A) Activation energy (B) Entropy

(©) Internal energy (D) Enthalpy

CHEMISTRY # Section B

In XeF,, XeF,, XeF, the number of lone pairs
on Xe is respectively :

(A)2,3,1
(©)4,1,2

B)1,2,3
D)3,2,1

Which of the following statements is true ?

(A)HEF is less polar than HBr

(B) absolutely pure water does not contain any
ions

(C) chemical bond formation take place when

forces of attraction overcome the forces of
repulsion

(D)in covalency transference of electron takes
place

Number of sigma bonds in P,O, is :
(A)6 (B) 7
QO 17 (D)16

Bleaching powder contains a salt of an oxoacid
as one of its components. The anhydride of
that oxoacid is :

(A)CLO
(C) ClO,

(B) CLO,
(D) CLO,

When methyl iodine is treated with ammonia,
the product obtained is :

(A) Methylamine
(C) Trimethylamine

(B) Dimethylamine
(D) All of these

Which nitro
tautomerism ?

(A)CH,NO,
(C) CH,CH,NO,

compound will show

(B) (CH,),CNO,
(D) o-nitrotoluene

Acetamide and ethyl amine can be
distinguished by reacting with :

(A) Aqueous HCl and heat

(B) Acid KMnO,

(C) Br, water

(D) Aqueous NaOH and heat

85

86.

87.

88.

89.

90.

91.

92.

o Y™afte fafhar § SSRe @ I
fa=foaRad & 9 e 9137 e 22

(A)|fBaor JHurt (B) U= idy
(C) JrraRe Jsll (D) Tt

CHEMISTRY # Section B

XeF,, XeF,, XeF, # Xe Ut UsbTa! goidei- v
B T HH: T
(A)2,3,1
(Q4,1,2

(B)1,2,3
(D)3,2,1

= 3§ & Pl vUF 98 8 ?
(A)HF, HBr ¥ &4 ¢d19 &
(B) 3AfA® g STl DIS 3MIF T2l vWdl ©

(Q)ER™ME g 7 & SR HYU g
FfIGYT g6 W AT B ST @

(D) FeHISl 97 & 9101 & SR Selag= &1
RIFFIRYT BT ®

PO ¥ fymr 9= &) de=r ©

A)6 ®)7
Q)17 D) 16

fa<sTep. ot 3 o= IUTRT & AATdT b SiTaATeT]
BT oqur 1 IuRUT T | [9 IifaalTTd &
Uglsglgs A 2
(A)CLO
(Q) IO,

(B) CLO,
(D)CLO,

S methyl iodine T 3FHIFRT & wTer 37f¥ga
far ST €, d1 Sere a9 @

(A) Methylamine
(C) Trimethylamine

(B) Dimethylamine
(D) All of these

7 ¥ ¥ 99T nitro AT Totrggadr gidr
?

(A)C,H.NO,
(C) CH,CH,NO,

(B) (CH,),CNO,
(D) o-nitrotoluene

Acetamide T ethyl amine &1 /=1 & @1r
AMAMHAT HRar BR faAfed fobar S Heperm ©
(A) Aqueous HCl and heat

(B) Acid KMnO,

(C) Br, water

(D) Aqueous NaOH and heat
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MBBS
SNMC - JODHPUR

MBBS
SNMC - JODHPUR

ISHWAR SINGH SANKHALA AMISHA PATEL
O =

93. Aniline is weaker base than ethyl amine
because :

(A)Lone pair of electrons of N-atom is not
freely available for co-ordination iwth a
proton due to resonance than in ethyl
amine

(B) Its b.p.is higher than that of ethyl amine

(C) It does not produce sufficient concentration
of OH~ ions insolution

(D) It is insoluble in water while ethyl amine
is soluble in water

94. In which of the following options the order of
arrangement does not agree with the variation
of property indicated against it?

(A)Li < Na < K < Rb (increasing metallic
radius)

(B) APP* < Mg* < Na+ < F~ (increasing ionic
size)

(©) B <C <N <O (increasing first ionization
enthalpy)

(D)I < Br < F < (I (increasing electron gain
enthalpy)

95. The rate of a first-order reaction is
0.04 mol [-!' s~' at 10 seconds and 0.03 mol [~
1 s-1 at 20 seconds after initiation of the
reaction. The half-life period of the reaction is
(A)54.1s
(©)34.1s

(B) 24.1 s
(D)44.1 s

MBBS

GMC - NANDED GMC - DUNGARPUR

NITIN CHOUDHARY

& o

93. Aniline, ethyl amine ¥ §ddl &R 8, &ifd :

(A)Lone pair of electrons of N-atom is not
freely available for co-ordination iwth a
proton due to resonance than in ethyl
amine

(B) Its b.p. is higher than that of ethyl amine

(©) It does not produce sufficient concentration
of OH~ ions in solution

(D) It is insoluble in water while ethyl amine
is soluble in water

94. f=faRad 5 @ aF4r 9 el T [orE &
gRad= & IFAR HEHT 8l 22

(A)Li < Na<K < Rb (Fgil g8 wnfcaa o)

(B) APP* < Mg < Na+ < F~ (d&d 8d 3IM®
3MHTR)

(C)B < C <N <O (9gar g3 Ug[ JId-d
T=IeT)

(D)I<Br<F < Cl (31 g8 Sclag offey T2yl

95. Tdh UUH DI Bl AMfHIT &1 a7 Afhar

UR®T 89 & 10 sec 91€ 0.04 mol [~ s—1 71T 20
sec 91 0.03 mol [~ s~! B| 39 3ifafhar o

3E Y HTA @ :
(A)54.1s (B) 24.1's
(C)34.1s (D)44.1s
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96.

97.

98.

99.

100.

In a protein molecule various amino acids are
linked together by :

(A) dative bond

(B) a-glycosidic bond

(C) B-glycosidic bond

(D) peptide bond

Match items of Column I with the items of
Column II and assign the correct code :

Column I ColumnII

(a) Cyanide process 1. Ultrapure Ge

(b) Froth floatation =~ 2. Dressing of ZnS
process

(c) Electrolytic 3. Extraction of Al
reduction

(d) Zone refining 4. Extraction of Au

5. Purification of Ni

(A)a-3; b-4; c-5; d-1
(©)a-2; b-3; c-1;d-5

(B) a-4; b-2; c-3; d-1
(D)a-1; b-2; c-3; d-4
The correct thermodynamic conditions for the
spontaneous reaction at all temperatures is:
(A)AH<0&AS<0  (B)AH<0&AS=0
(OAH>0&AS<0 (D)AH<0&AS>0

Predict the correct order among the following

A) Ione pair - bond pair > bond pair - bond
P P P

pair > lone pair = lone pair

(B) lone pair - lone pair > lone pair - bond
pair > bond pair - bond pair

(C) lone pair - lone pair > bond pair - bond
pair > lone pair - bond pair

(D) bond pair - bond pair > lone pair - bond
pair > lone pair - lone pair

Equal moles of hydrogen and oxygen gases
are placed in a container with a pin-hole
through which both can escape. What fraction
of the oxygen escapes in the time required for
one-half of the hydrogen to escape ?

(A)1/2 (B) 1/8
(C)1/4 (D)3/8

96.

97.

98.

99.

100.

WIS 9] H faff=1 QAT ot U g | O
Ed ©

(A)TTAT 3T & GRT

(B) a-glycosidic 3Tee & gIRT

(C) B-glycosidic 3Ty & §RI

(D) peptide 3T&e & gIRT

Column [ & Sl &I Column [ & Scoig A
e | |E "ad ugfa @ -

Column I Column II
(a) |iIATES UhH 1. Jfge Ge
(b) &1 g fafr 2. ZnS &1 gARH
(c) fazg@ aueeh 3. Al &1 fspyor
SEERE]
(d) Heal yRwhRor 4. Au &1 frspyor
5. Ni &I 2me

(A)a-3; b-4; c-5; d-1 - (B) a-4; b-2; c-3; d-1
©a-2;b-3;,c-1;,d-5 (D)a-1; b-2;c-3; d-4

gt aro ux wWa: gfufear & fav g
SHAfART o B -

(A)AH'< 01 AS <0 (B) AH <0 @2 AS =0
(C)AH >0 g1 AS < 0 (D) AH < 0 @I AS >0

=1 5 @ |E e B

(A) UbTD] G - 3T&el] g8 > el J - ATae
T g™ > GaTd! g - Tbld! I

(B) UbTd! JTH - YebTehl JTH > UehTdh] JiH — &l
g > JEeT g - el g

(C) UbTdH! T - Tebldbl JTH > JATaell JTH — 3Tl
g > YTl JiH - & I

(D) Tdefl JeH - 3Teel gH > Yeblebl YT - ATqe
I g™ > BTl g - Uhldl

gl Ud SffRioH Tl & a9 Al Bl
U Ut H @1 AT B | Sl b ged fow @ gIRT
TlIe &R Ghd o | BIgSroi & 3 Uorg— #
N AT W SRS BT fhdar efY yerH
PBAT?
(A)1/2
(C)1/4

(B)1/8
(D)3/8
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BOTANY # Section A BOTANY # Section A
101. Select correctly matched pair/pairs : 101. F21 quf&q I/ BT AT HRU :
(A)Monoecious plant-Funaia, Sphagnum & (A) SHIFATSRA Treu—wARaT, TheH, g
Pinus : <h .
(B) Dioecious plant-Marchantia, Polytrichum (B) e fefmrreh —erEL | P
& Cycas MR
(C) Haplontic life-Ulothrix, Mucor & Spirogyra O rwifes Sflaq an—geifyed, =@y,
cycle pattern FTGRITSRT
(D)Homosporous fern-Dryopteris, (D)FaASIE HA-grare Ry, Amiafie,
Nephrolepis, Salvinia et
102. Read the following statements : 102, Fr=fiRaa ol @ ufu -

A. Pyrenoid contain protein besides starch

B. Sexual reproduction in brown algae is by A. TEAIES T & Sfefar HIKH v &

biflagellated zoospores B. WX A H it S fgdmenfian =
C. The read algae usually reproduce SS9 T BT ©

vegetatively by budding C. aret AT U10: B ST Gepe!d I DRl
D. Chlaymydomonas is a unicellular motile 2

algae

D. FEESHART Udh BIRB I Jdid 8

How many above statements are incorrect :

(A)One (B) Two SWRIEd # W fhad $a Tad & -
(C) Three (D) Four (A) TP (B)ar
Q)= D) =R
103. Which one is an amino acid : © D)
0 o 103. 971 % & BIF9T UH 3T 37T |
Il Il
(A) ¢t - GH-C-OH (B) CH; - CH,-C - O-NH, |C|> ﬁ
NH, (A) CHs-ClH-C-OH (B) CH;-CH,-C-O-NH,
0 NH,
I
(C) CH,-CH,-C-NH, (D) o
I
0 (C) CH-CH,-C-NH, (D)
CH,-CH-NH,-C-Cl o

Il
104. Fungi differ from other kingdoms in being : CH, - CH-NH,-C-C1

(A) Unicellular decomposers 104. HaH AN S | b B 9 I 7 ¢
B) Unicellular consumers

(A) ThDIRIBIT JeTh
B) THpIRIHII IUHTadT

(

(C) Multicellular decomposers (
(

(C) TgdIRIBII JJuacH
(

D) Multicellular consumers

105. Which one of the following is not the mode of TEPIRBT ST
reproduction in yeast : D) o
(A) Budding (B) Fission 105. fr1 & & B e # o @ fafy = 2
(C) Plasmogamy (D) Oogamy (A) 5o (B) faRreve

(C) TSHITHT (D) faws=git
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106. Chose the incorrect statement from the 106. f=fRad § & Tod AT Bl ?:[f?rq .

following : ' ' (A)aRTes) i . RreTa SR ) el
(A) Taxonomic keys are generally analytical in
nature i Rrzi &

(B) Zoological parks enable us to learn about (B) w1for 3 TH @I SMER TR
their food habits and behaviour FAER DT ATEH DT IR UG X 2
(C)flora, manuals, monographs and () ¥diRT, FaAYR®dT, AFRTS qur g
catalogeus help in correct identification of IoNal @) TE ugaE § 9Edl BN ©

organisms (D)af St @1 SR Tor 2

(D) Growth is a defining property of life forms

107. Select out wrong match : 107. eI THEATT T g1 =

(A) Actinomorphic - Mustard (A) Froar wafaa — wavar
B) Uhedld AT — BRI

(B) Zygomorphic - Cassia (
(C) Superior overy - Rose (C) SuTT AV — A4
(D) Inferior overy - Ray florest of sunflower (

D) gl AUSRIAI — [ROGE!l & IRYWD

108. Read the following statements and find out
how many statements are correct :

108. 1 HUAT @I Ufed AR UdT BT fhd HAA

A. Phyllotaxy is the pattern of arrangement e
of leaveyn the stegg A UUIfIRIRT @ R ARl @ faRe e

CB:. In Alstonia Wlhorlec; phyllotaxy i(s:1 plresent H1 P 2
I , t .
Or;;;zse S WGt i < i B. vcHcIaT H afdhed qoifd=re urar Sirar ©
D. Tuber is a modification of stem C. & # iy wyaq uferd! oy o @
(A)1 (B) 2 D. &= T BT GIRRYT e}l ©
©3 (D)4 (A)1 (B) 2
©3 (D)4
, SOME OF THE STUDENTS SELECTED IN AlIMS
-
- L - '
. y =
YOGESH TAK BHAGYA SHREE TANWAR KUNAL GEHLOT ALA RAM SHIVANK CHOUDHARY
AlIMS - Jodhpur AIIMS - Rishikesh  AlIMS - Jodhpur AlIMS - Jodhpur  AlIMS - Jodhpur

A A A A

i -1 -y
-t “ - N v
MAHENDRA KUMAR HEMRAJ NISCHAYA NAGORI JITENDRA SEN
AlIMS - Jodhpur AlIMS - Jodhpur AlIMS - Jodhpur  AIIMS - Raipur
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109.

110.

111.

112.

Match the column-I with Column-II :
Column-I Column-II

A. Fibrous root (i) Onion

B. Rhizophora (i) Wheat

C. Adventitiousroot (iii)Sweet potato
D. Bulb (iv) Pneumatophore
A B C D
@@ (W) (i) (i)
B) (i)  (iv) i 0

(© (i) () vy (i)
D)) ) (i) (i)

Consider the following statement :

A. In dorsiventral leaf vascular bundle are
surrounded by a layer of thich walled
bundle sheath cell

B. In isobilateral leaf mesophyll is
differentiated into palisade and spongy
parenchyma

C. The parallel venation in monocot leaves is

reflected in near similar size of vascular

bundle
A) A is true but B and C are false
B) B is true but A and C are false
C) Bis false but A and C are true
) C is false but A and B are true

(
(
(
(D

Which one of the following character
representing the trichome :

A. Multicellular

B. Unicellular

C. Branched

D. Unbranched

E. Help in absorption of water
F. Preventing loss of water
A)A,C F (B)B,D, F
(OACD,F (D)B,C, E

Which one of the following type is made up
of elongated tapering cylindrical cells which
have dense cytoplasm and nucleus and cell
wall is composed of cellulose and has pit
through which plasmodesmatel connection
exist between cells and it is absent in most of
monocotyledon :

(A)Sieve tube element

(B) Phloem fibre

(C) Phloem parenchyma

(D) Companion cell

109.

110.

111.

112.

24
-1 BT -1 9 e SR
Column-I Column-II
A. FHST TS (i) =S
B. ISSIBIRT (ii) g
C. Iua=d s (iii) 2TFPID &
D. Ychdhg (iv) Taa 116{
1 2 3
(A) (@) (iv) (i) ( i)
(B) (i)  (iv) (iid) (i)
(© (i) () (iv) (ii)
(D) @Gv) () (ii) (iii)
e ol wR &g A

A. YO®IRT W1 § Hagd dsc Yo AT MRy

B.wfgured Ul # uvHedie @9 ggdd defl
wol geod # fanfed gar &

C. Updraual & gkl d§ wH=R RRifa=ard
TH FHA A9 & Hagd dSol Bl qardr g

(A) A 9 Afd B8k C 39 &

(B) BE& & olfd A 3R C Il 8

(C)B 3T & elfhT A 3R CHF ®

(D) C 39 ¢ oifd A 3R B9 2

9 ° ¥ B9 TP &I SshIR Bl UehRia
AT B

A. TERIRTHI B. T BIR®I

C. wfEa D. 3remiEaa

E. O & S@NY # Wedd 84 &

F. 5 8 &I A$6d &

(A)A, C, F (B) B, D, F
(O)A,C,D,F (D)B, C, E

=1 H & 319 A1 U BIRIET ST {6 o=l e
fafefevrar 8 71 RFH waa sIfier g
qIl s BIAT © | AR BIRGT RN Aegars
BT g BRl € | 3R S I B © | RS9 gR
DIRBRIT & 9 oSl B Siig 8lal 2 |
3R U XA UHdIoraal i § 98 9 Sid
2

A)am‘r‘f‘r EﬁTféIaﬁT

B) Wit

C) T qwmsm GESED)

D) HEaR HIRTHY

(
(
(
(
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113.

114.

115.

Which two points are known as the twin
characteristics of growth ?

a) Increase in mass
b) Differentiation

) Increase in number of individuals

A)aandb (B)aand d

(
(
(
(d) Response to stimuli
(
(Obandc (D)aand c

Select the true statement :
I. Life cycle of ustilago is haplontic

II. Cell wall is absent in mycoplasm which
provide anti-biotic resistance

III. PSII and NADP reductase are absent in
stromal thylakoid

IV. N, fixation process require ATP for NH;

ion formation
(A)I, Tand IV (B) 1L, Il and IV
O LI Il and IV (D)Iand IV

Select the number of True Statements :
I. Se, Na, Co are required by higher plants
II. The sporophyte of the riccia is simplest

III. 36 ATP and 24 NADPH + H* are required
for formation of one sucrose molecule

IV. Both cedrus and pinus have branched tree

113.

114.

115.

fefaRad 4 9 o9 a1 fIg gfg & a4
&7

(a) 91T 9R H gfg

(b) fasre

(c) PRI & F@r # gig
(d) TATERT | A fhT
(
(

=3

A)a&b
Obé&c

(B)a&d
(D)a & ¢

A HYT Bl AIT BN

1. 3Reer &1 Siaash SFIPad gr ®

II. ArsHIrAr 4 diftrer ARk @1 srquRefa
q I8 ufoeifdsl & ufa ofeRel 8 @

III. ¥ST9T Tsaidiss H PSII @2 NADP
reductase U=TgH 31JUReT B ©

IV. N, Reriexor ufebar § NH: s fmior &
IRME ATP &) 3aedhal gkl 8

(AL, 1L a1 IV (B) 1L, III &I IV
(Q1 1L, L a2y IV. (D)@ IV

AT HAAT B AT BT FIT BN

I. Se, Na d21 Co S@d UlqUl §RT 3fQeiyd
fry o ®

I1. "RIRTIT BT SMgfHe FRATH UBR BT Bl
g

(2); ([B)) i II1. Teb GehIoT Y& AT & oI 36 ATP a2
© ©) 24 NADPH + H* & 3maeidadr 8l 8
IV. Rrga dor uis=d § 9IRgS urIT S §
(A)1 (B) 2
©3 (D)4
IT-JEE
sesee WWESTERN RAJASTHAN TOPPERS ¢¢ee-
/-
_ VINOD PRAGYESH
: v KHICHAR GUPTA
¥, | AIR-344  AIR-172] %
J IIT- Guwahati IIT- Bomba
S _ar = :
. - J
[ N N N N ]
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116. ATP formation during photophosphorilation
require :
(A) ATPase enzyme
(B) cytochrome pump
(C) photosystem and electron carriers
(D) All of the above

117. Why a linear curve is obtained in arithmetic
growth ?

(A) Becauseit haslag, log and stationary phase

(B) Because one daughter cell remains
meristematic while the other daughter cell
differentiates and matures

(C) Because of the effect of environment of
mitosis
(D) None

118. Cytokinins are formed primarily in which area

of the plant?

A) Tips of shoot

B) Root

C) Stem

D) Lateral buds and leaves

o~ o~~~

119. Which of the following is incorrect about A,
B,Cand D:

W

Sweet
Potato

Carrot

Turnip

Pneumatophores

(A)Tap roots of carrot, turnip and
adventitious root of sweet potato, get
swollen and store food

(B) Penumatophores help to get oxygen for
respiration

(C) Penumatophore is found in the plants that
grow in sandy soil

(D)A, B and C are underground roots but D
grows vertically upward

116. YBT3 BRBRISAHOT & SR ATP famfor #
JNMITTFH T
(A) ATPase U=i1gH
(B) WTSCIPIA UH
(C) UHTeT 3 TAT Felagid Aiedh
(D) IWRIFT |
117. BRI gig d T el @1 9% 9l U
BT 8 ?
(A)Hifd s lag, log TAT ARY fTwAT UTg
ST ®
(B) Fifds 36H Y HIRTHT Aisha wU | faTiora
BT & T 3T PIRTHTY fawfed grex aRudd
Bl ®
(C) Fifds T HIRTERT # TRET favre grar
g
(D)®IS &l
118. ATSCIBIS= &1 fmior yefie w7 J uey &
g e H gar g ?
(A)WRIE & Wy
(B) e
(C) T
(D) UTd  dfctdrdll qm gor
119. A, B, CTaT D& T<H H AT HAF BT I

AS ’
'EJ
-
/ *
Turnip Carrot  Sweet
Potato

Pneumatophores

(A) TSR AT TS BT AT Fol T Fhba
B UMD Hol HeldR AT FUBU Bl
&1 wA R

(B) Penumatophores §RT ¥a9 & GIRTT
SiTeRITST ISV | [T UTd Bl &

(C) Penumatophore d1¢] §&T # Ul S dTlel
IIRAT B

(D)A, BT C {ffi1d Sig Sidid D IgF HW
B AR fABRAd 8 arell oS &
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120. Figure A and B represent female reproductive
organs of respective following organisms :

(A) A - Papaver and B - Michelia
(B) A - Michelia and B - Papaver
(C) A - Striga and B - Solanum

(D) A - Papaver and B - Solanum

121. How many meiosis and mitosis are required
for formation of 8 male gametes :

(A) 1 meiosis and 8 mitosis
(B) 2 meiosis and 8 mitosis
(©) 1 meiosis and 2 mitosis
(D) 2 meiosis and 2 mitosis

122. A couple belived that they have brought the
wrong baby home from the hospital. The wife
is of blood group O, her husband of group B
and child of group O. Coluld baby be theirs ?

(A)Chances are50% (B) Chances are 25%
(C) Chances are 100% (D) Chances are 75%

123. Which one of the following best describes a
gene ?
(A) A triplet of nucleotide bases
(B) A specific length of a single stranded DNA
(C)A specific length of double stranded DNA
(D) The nucleotide sequence of a chromatid

124. The type of inheritance shown by Mendel in
peais:
(A) Monogenic inheritance
(B) Polygenic inheritance
(©) Quantitative inheritance
(D) Cytoplasmicinheritance

120. 3 A TAT B 49 fbdd AIST 5= 37} Br
uef¥a &d B :

CARPELS

(A) A - Papaver and B - Michelia
(B) A - Michelia and B - Papaver
(C) A - Striga and B - Solanum

(D) A - Papaver and B - Solanum

[N

R gD & AT F fhae sre<A 9 FaE
IS BT MITIhdT Bl ©

121.

I

(A) 1 meiosis and 8 mitosis
(B) 2 meiosis and 8 mitosis
(©) 1 meiosis and 2 mitosis
(D)2 meiosis and 2 mitosis

122, f6dY gwfd &f 4T oFrar & f a8 erudria 9
TAd g2 BT B o MY B | Yl &1 I a7 'O
g 3R ufy &1 vad 9 'B' ® | g= BT Xad q
'O' 2| 9T 98 g1 S8l Bl 8l Adhdl g |

(A)50% chances (B) 25% chances
(C) 100% chances (D)75% chances

123. %=1 & | I SiIF BI Aelifa gR9IfRT &
?

(A) Nucleotide &Rl &T T& &

(B) T 31 DNA o7 fafdre wir
(O)fe=a DNA &1 faRkre 9
(D)W& chromatid % Nucleotide &T %4

124. 39S ERT HeX H 59 ydpR & dumfa &

ENIRIDII
(A) UbST=T gl @
B) diferifes demifa a1

(
(C) oS dRINTa i
(D) BIRIBI Tl derIfd
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125.

126.

127.

128.

129.

130.

131.

In haploids, both recessive and dominant
mutations express themselves because :

(A) there is one allele for each trait

(B) there are two allele for each character
(C) there are two genes for each character
(D) there are many alleles for each trait

One way of determining sex-linked inheritance
is :

(A)Son resembles mother and daughter
resembles father

(B) Son resembles father and daughter
resembles father

(C) both son and daughter resemble mother
(D) both son and daughter resemble father

Assuming no linkage and no crossing over,
segregation of Mendelian factors during
meiosis ocurs at :

(A) diplotene (B) metaphase I
(C) anaphase I (D) anaphase II
Both father and mother have allele for PKU

but are phenotypically normal. What is the
probability that their child will have the
disease.

(A)0.25 (B) 0.50
(©)0.75 (D)1.00
Which site of a t-RNA molecule hydrogen

bonds to a m-RNA molecule :
(A) Codon

(B) Anticodon

(©) 5 end to the t-RNA molecule
(D)3 end to the t-RNA molecule

Franklin and Wilkins showed that DNA :
(A) Contains four bases

(B) Is a helix

(C) Has equal amount of adenine & thymine
(D) Is made up of nucleotides

Which one of the following ratio is constant in
DNAs of different species :

(A)A+T/C+G (B)A+G/T+C
(QA+C/U+G  (D)A+U/C+G

125.

126.

127.

128.

129.

130.

131.

3Ol (haploids) #, STl TT yHTET

B TR & IURIIH W@ bl yeRfd axd 2|

ERIIES

(A)3H YD T & ol dael U &1 fddbed
grar 8

(B) ST Y% &0l & o dhael &l fddbed sld
g

(C) ST U oteToT & ol &I S B8 ©

(D)3 A% el & fordl #g fAwed g &

fofT—wger™ demfay REiRT &A@ ve I=ar

2

(A)9F AT & |AE qAT g fUar & 9HE
B ©

(B) 9= fUar & A qm YAl A & HHN
B ©

(©) gz a1 Yt AT & A B &

(D) gz @1 gerat fdr & a9+ 81 &

gfe gg 7 foram 9IR f& =1 &8 Jgor=ar 3k

g SofiF fafEg B, 1 sreyEl fawre @

I el & HRH YUIdh B 2

(A) diplotene # (B) metaphase I #

(C) anaphase I H (D)anaphase IT #

NN N\

A1l < U &9 J & PKU & Qelledd &, IR
I8 918 ©U ¥ 9 £ | 89D 9o § 39 0T
P YTl 8RN

(A)0.25 (B) 0.50
(©0.75 (D)1.00

m-RNA 9] & 1 +-RNA 39 & e w14
W EIgSIOH d9 BIaT § -

(A) e

(B) ufdiehe

(C) t-RNA 377] &7 5 3

(D) t-RNA 377] &7 3" 3

hehiold 3R fdaf=d =1 arr f& DNA :
(A)¥H IR 999 BId 8

(B) efera &ram 2

(C) % TSMIEH &R oI a=TeR AT # B ®
(D) IfFeraeIsesd &1 91 BIal ®

=1 H ¥t @1 U =1 Sfadl & DNA
#H Had TP IHH BT ©

(AJA+T/C+G  (B)A+G/T+C
(QOA+C/U+G  (D)A+U/C+G
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Koi bhi Exam ho Deekshians
Har jagah Champion.....

*NDA AIR- 20
*lIM (INDORE) AIR- 20

- IS1 (KOLKATA) AIR - 32
« PHYSICS OLYMPIAD

132. There are special proteins that help to open

133.

134.

135.

up DNA double helix infront of the replication
fork. These protein are :

(A) DNA ligase (B) DNA gyrase
(C) DNA polymerase I (D) None of these

Principles of Biotechnology includes :

I. Alter the chemistry of genetic material
(DNA and RNA).

II. Transformation of host organism.

III. Maintenance of Transformed or desired
cell on large scale cultural vessels or

bioreactor.
(A) I &I (B) I & 11T
O 1L IV (D) all of these
Approximately more than ............... restriction

enzymes have been isolated from
bacterial strains :

(A)900, 230 (B) 950, 300

(C) 230, 900 (D) 300, 950

Which of the following genes do not occur
naturally inliving organisms:

(A) Bt genes

(B) RNAi genes

(C) Cry genes

(D) Endogenous cytoplasmic defense genes

»>>>  AISHWARYA VARDHAN

132. 39 a9 G &7 99 9a18d ST fob Nelidbe=

133.

134.

135.

®ID & A1 DNA & Sofd ofctad bl Gl H§
A IR ©

(A)DNA ligase (B) DNA gyrase

(C) DNA polymerase I (D) None of these

Sig g & Rigra @ =

I. 3@ yared (DNA & RNA) &1 |16
AT # gRad+ g 2

II. RO Sial o wur=RoT |

1. s TAT ™aT<aRd BIFRTHRI BT IWGIWTG

TqT g TA W g Ruger § Sre |

(A)] & 1T (B) I & I1I

O 1L IV (D) all of these

[ E1 R AR TATGH BT oo
SIETY] PIRMPT GWal I YUahd fbar 1T € :
(A)900, 230 (B) 950, 300

(C) 230, 900 (D) 300, 950

=T | & DIFT S Siidl H wTpiie | T8l
RIRIRCICIE -

(A) Bt genes

(B) RNAi genes

(C) Cry genes

(D) Endogenous cytoplasmic defense genes
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136.

137.

138.

139.

140.

141.

142.

BOTANY # Section B

In which kingdom would you classify the
archaea and nitrogen-fixing organism, if the
five kingdom system of classification is used:

(A) Plantae (B) Fungai
(C) Protista (D) Monera
Glycogen is a polymeric polysaccharide of :

(A)Glucose (B) Fructose
(C) Ribose (D) Amino sugar
Which is correct :

(A)RNA is genetic material of bacteria

(B) RNA is genetic material of all viruses

(C) DNA is genetic material of some organism
(

D)Some viruses have RNA as genetic
material

In a protein chain, the last amino acid is also
called :

(A) N-terminal amino acid
(B) C-terminal amino acid
(C) Both of them

(D) None of the above

Bacterium Pseudomonas is useful as it can :
(A) Transfer genes from one plant to another
(B) Fix atmospheric nitrogen

(C) Produce several antibiotics

(

D)Decompose a variety of organic
compounds

Certain bacteria living in the soil poor in
oxygen, convert nitrates in to nitrites and then
to free nitrogen and such bacteria are termed
as:

(A)Nitrogen fixing Bacteria
(B)Denitrifying Bacteria
(C)Ammonifying Bacteria
(D) Saprophytic Bacteria

In full turn of B-BNA. How many N, -bases
are present :

(A)10 (B) 20

(©)30 (D)5

136.

137.

138.

139.

140.

141.

142.

BOTANY # Section B

fopar ST Y anfear Td Arseior ReRIeRoT |oild

B fe Sa § afiad dRR

(A) =TT (B) ®ad

(C) UreIeT (D) AFRT

TAgPIS T BT geliqd UeIanIss © ¢
(A) gD (B) WSl
(GNEIEIR] (D) 3HAT @7
PITAT HET ©

(A)RNA SHar] &7 rgaifdie gamef &

(B) RNA &1 fauro] &7 maifres uaref &
(C)DNA §® Hoildl &1 Agdifkie uaref 2
(D)@® faumopeil &1 mgaifies garef RNA &

U UISH STl H A M et Bl I 41
HEd ®

(A) N-terminal amino acid

B) C-terminal amino acid

SIaT] ReHIAE SYAR 8, difdh I8+
HhTe: (A) U UIGY ¥ gAY UTQT H i
AR (B) aTdreaRoiy Arggioi RemIaRo]

Q)&% ufasifas &1 IreH
(D)®S UBR & HETD ANTDI P TECH

go [MREd geR & Sian] sifeilc &1 HH
Jad HaT ¥ Ed ©, ASec Bl AQgEe Uq fh
gad Tggiod H 98 ©, U STy $Eand @
L (A)TTEEOH ReRBIT Siary

(B) famrg il Sitary
(C) ST Sfraryg
(IDEGIESICIENICI

B-BNA & Ueb qUT fusel H febeei N8R SuReId
BId ®
(A)10
(C)30

(B) 20
D)5
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143.

144.

145.

146.

Which unicellular alage are rich in proteins
and are used as food supplements ?

(A) Chlamydomonas and Volvox
(B) Chlorella and Spriogyra
(©) Spirulina and Chlorella
(D) Spirulina and Spirogyra

A plant group has following characters :
a. Dominant sporophyte

b. Flagellated gametes

c. Independent gametophyte

d. Vascular system

Which plant belongs to ?

(A) Algae (B) Bryophyte

(C) Pteridophyte (D) Gymnosperm
Vitamin-Cisa:

(A)Sugar acid and derivative of L-glucose

(B) Amino sugarand derivative of L-fructose
(C) Sugar acid & derivative of D-galactose
(

D)Sugar alcohol and derivative of hexose
sugar

Study the following statements and choose the
correct option :

I. Buds are present in the axil of leaflets of
the compound leaf.

II. Pulvinus leaf-base is present in some
leguminous plants.

III. In Alstonia, the petioles expand, become
green and synthesize food.

IV. Opposite phyllotaxy is seen in guava.
(A)Iland IV are correct but I and III are wrong

(B) I and III are correct but II and IV are
wrong

(O) 1L, IIT and IV are correct but I is wrong
(D)I'and II are correct but Ill and IV are wrong

143.

144.

145.

146.

DT b DIRGRA Yard F7FH UIEE UgR
AT H BIAT B, WY [dded & WU H YA SR
E

A) FelHIgSIHIAN 9 GISECIGS

B) FeIRell d HTSXHTTIR]

C) WIgHicT T d FARel

o~ o~ o~ o~

D) WISHIHT g TSR]

e Urqy |qs § FeEfoiad deror €
a. yardl faSuefde b, dAWS s
c. WA FHBIGWE d. Hagd <D

Ig fhg urey o gwfud g ?

(A) Algae (B) Bryophyte
(C) Pteridophyte (D) Gymnosperm
fefT—Cc & us :

(A) TR 3+l g L-TefehIoT BT G

(B) 3™l IR AT L-thaeiot BT gea—
(C) YR 3+l g D-TlefalST T YI—
(

D) YR Teblglel d IS YR BT G~

I T poAEl W AR PITT T A8 B!
BT TG PR

I Ggad qof & guiel Bl 37T TR PHerRel HicTdly
oY Al

II. Yoig=d ded oA uredl H YT Sl @

I11. TREIT H, goigd Theld] UhTer Heel 8l
ST § AT HISH A0 BT Bl BRAT §

IV. 3@%e 4 f[aud qoifd=mre urar Sian

(AL Torm IV 9 fb=g 1 aer 111 39

(B) 1qer I 9 fobeg 11 921 1V 319

(O 11, T T1 IV I g 1 30

(D)1 qer 11 9 fobg 11T T21 1V 31
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147. a, b and c in given figure represents : 147. Y T A H o, badAT ¢ T :
a a : i
=P, Peristome with N Peristome with
( ring of teeth | ring of teeth
Apophysis (sterile tissue) Apophysis (sterile tissue)
Male branch Wimalebranih Male branch Female branch
\l C C
A)a—Capsule b—Seta c¢—Rhizoid A)a—Capsule b—Seta c¢—Rhizoid

148.

149.

(

(B) a—Rhizoid
(C) a—Seta
(D)a—Capsule

b—Capsule c—Seta
b—Capsule c—Rhizoid
b—Rhizoid c—Seta

Heterosporous plants produce :

(A)megaspores that develop into female
gametophytes and microspores that
develop into male gametophytes

(B) megaspores that develop into male
gametophytes and microspores that
develop into female gametophytes

(C) megaspores that bear antheridia and
microspores that bear archegonia

(D) spores that produce both archegonia and
antheridia

Which of the following statements is/ are true?

I. The apoplatic movement of water occurs
exclusively through the cell wall without
crossing any membranes.

II. Solutes presentin a cell (or in any solution)
increase the free energy of water or water
potenital.

III. The symplatic movement occurs from cell
to cell through the plasmodesmata.

IV. Membrane permeability depends on the
membrane composition, as well the
chemical nature of the solute.

(A)I & 11 (B) 11 & IV
()1, I & IV D)1, I & IV

b—Capsule c—Seta
b—Capsule c—Rhizoid
b—Rhizoid c—Seta

(
(B) a—Rhizoid
(C)a—Seta

(D)a—Capsule

148. fAYHIISe Urey I B & -

(A) TR ST % ATGT Jradigiie H fAmRid
BIAT 8, 9T A Sl {6 AR grAdIgig
H f[IeRa 8Iem ©

(B) THdISY] ST f6 TR gHdIghe § f[Aaiia
BIAT 2, AT YIS ST fdb ATGT JrABIgHaE
H faeRrd B &

(C) THAIATY] YT ST HIA & TAT TGN
A IO B 7

(D) &S] ST fob ST q21 g SHl Sca~
A B

149. =faRad & W I BUAT BT TIT BIIT ?

I QUIRE® 9 & QR Sl ddal IR
MRy grRr Q9T fRreell &1 Aerar & THe
FHAT

I Sif¥rer & IuRea faerm (siar faems #)
T @ gad Solt AT Wil fawa # gfg
A §

II. Symplatic 91 & SRF T T PDIRIBT A
g9 HIRTET A HIHET TR T
(plasmodesmata) gRRT AT &Ral &

IV. ®BIRTHT freell &1 araregdr fada &1
RIS ygiy qorr fSreell & s uR R
FRA 7

(A)T & 11

()1, 11 & IV

(B) 11 & IV
D)1, 1 & IV
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150.

151.

152.

153.

Choose the correct combination of labelling
of stomatal apparatus of dicot and monocot
leaves :

(A) A-Epidermal cells; B-Subsidiary cells; C-
Chloroplast; D-Guard cells; E-Stomatal
aperture

(B) A-Epidermal cells; B-Guard cells; C-
Chloroplast; D-Subsidiary cells; E-
Chloroplast aperture

(C) A-Epidermal cells; B-Subsidiary cells; C-
Chloroplast; D-Stomatal aperture; E-
Guard cells

(D) A-Subsidiary cells; B-Epidermal cells; C-
Chloroplast; D-Stomatal aperture; E-
Guard cells

ZOOLOGY # Section A

Sponges are :

(A) Asymmetrical and Triploblastic

(B) Symmetrical and Diploblastic

(C) Bilateral symmetrical and Diploblastic
(D) Asymmetrical and Diploblastic

In some animals, the body cavity is not lined
by mesoderm, instead the mesoderm is
present as scattered pouches in between the
ectoderm and endoderm. Such type of body
cavity is represented by which group of
animals:

(A) Platyhelminthes ~ (B) Aschelminthes
(C) Coelenterata (D) Hemichordata
In a metameric segmented animal, The animal

is :
(A) Externally and internally segmented

(B) Segmentation with closed circulatory
system

(C) Serial Repetition of some organs
(D) Both (A) and (C)

150.

151.

152.

153.

ThIIoTIal dr fgdioa= uof & =i SudhRor
P ARG & Th] Bl ol ®Y A AHIfbd BT

(A) A-1Ta=a¥ BIfRIT; B-A81deT BIIwl; C-8Ra
Ad®; D-gR BIfaT; E-E

(B) A-1ferad &If¥aT; B-gR &It C-8Ra
Add; D-ABTIHBT BIRHT; E-IE

(C) A-3if&ra¥ BIfreT; B-Fe1dehT Bl C-8Ra
Idd; D-IE; E-g1R BIf¥TahT

(D) A-TETIHT BHIfRIehT; B-31ferad HIR®T; C-8iRa
odd; D-IET; E-gIR BIfrahT

ZOOLOGY # Section A
ST 7
(A) rgafAdT g R
(B) FHfAc U fawkia
(C) fgured wfdd v fgaviy
(D) srgafada vd fgwadg

EB Sigell H qgEl dloiied ¥ ARaRd 81 &
Ty, HIGllsH, Tacied Ud UrelsH & g A
TSl & wY H f@RT WEdr 8 39 SR Bl
<8YEl b bR & Sgsll g1 UafRid & Sl
EE

INESEIEIRIN (B) TheHIfIST
(C) Hrei=zer (D) g¥IprsSer
ACHR® WUSMa H, Sig 8T © :

(A) a8y JAT RS w9 @ived
(B) @UEMdH, g=a URATR o
(C)®® 3T &1 HAb gRIgRI
(D)= (A) W@ (C)
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154.

155.

156.

157.

158.

The most distinctive feature of Echinoderms
is presence of water vascular system which
helpsin:

(A) Locomotion and reproduction

(B) Capture and transport of food and
Respiration

(C) Respiration and Excretion
(D) Reproduction and Excretion

The common feature which is shared by
Echinodermata, ctenophora and
Hemichordata is :

(A) Internal Fertilisation
(B) Direct development
(C) Marine habitat

(D) Triploblastic condition

Identify the diagram given below :

A) Zoospore of chlamydomas
B) Conidia of penicillium

C) Buds in Hydra

D) Gemmules in sponge

(
(
(
(

During the first trimester of pregnancy, the
basic structures are formed. During this
period, the developing stage is called as :

(A) Embryo (B) Child
(C) Zygote (D) Infant
Identify parts A, B, C & D from the diagram

given below :

154.

155.

156.

157.

158.

ghIgAISHeT BT g9 fafdre 8701 5ol dag+
T &1 SuRAfY B, Sl A8Idl &Rdl © :

(A)THT TAT S

B) WIS Pl Ul AT YRS BT Ud T4

(
(C) T T IcHoHA
(D)= Td A

JIETI F&T0T Sl ghIgieHel, SIHIBIRT Uq
gHIdlSer gRT 41T fhd d ©

INEGHRELEE!
(B) uder uRae
(C) tgvirg smard
(D) PRa’ia araer

A o T R @ ugEntR

A) FAfEHATE ® ERIEINIL

B) Usiiefiferga. a1 pifafsan

C) 8ISl H Bfctal

D)¥S H SR

TEReN @ Ul [T @ SRM, el HRaTl

BT fATOT B 91T © | 39 31afY & SR fasfid
29 dTell 31T Bl HEd © -

(A)goT (B) =
(C) gt (D)frg

o ™ ' & 9 A, B, Cdar D @Y
ITE‘»'%lTﬁfI:

(
(
(
(

Corporate Office : Deeksha Tower - 3, Section 7, New Power House Road, Jodhpur (Raj.) Call : 7413053555 | Deekshaclasses.com



Sampler Paper : NEET-UG

35

159.

(A) A-Middle piece; B-Neck; C-Acrosome;
D-Nucleus

(B) A-Mitochondria; B-Plasma Membrane;
C-Middle piece; D-Acrosome

(C©) A-Middle piece; B-Nucleus; C-Head;
D-Acrosome

(D) A-Mitochondria; B-Acrosome; C-Neck;
D-Nucleus

Identify A,B,C,D from the above diagram :

(A)A-Vagina; B-Cervix;
D-Uterine cavity

C-Ampulla;

(B) A-Uterine cavity; B-Vagina; C-Cervix;
D-Ampulla

(C) A-Cervix; B-Ampulla; C-Uterine cavity; D-
Vagina

(D) A-Ampulla;
D-Uterine cavity

B-Cervix; C-Vagina;

160. Which of the following statement is correct?

(A)The placenta facilitate the supply of
nutrients and carbon dioxide to the
embryo

(B) Placenta act as ultrafilter and endocrine
gland

(C)Placenta produces LH,

progesterone etc

estrogen,

(D) Level of cortisol, prolactin, thyroxine are

decreased several folds in the maternal
blood

159.

160.

(A)A-HeT  wvE; B-UT4r; C-3ufyves;
D-d

(B) A-ATSCI ST vgIT; B-T1d
C-H @ug; D-3fuvs®:

(C) A-HAeT wvE; B-d e®d; C-3E;
D-3fuvs®

(D) A-ATSTIHT g AT, B-arufuvs®; C-u74T;
D-d

TIFHAT;

C = x‘\\‘
= {: Ao AR '{\(r;::‘t;}::é_ﬂ“r—B
1S & 1
ij}?\i. /;0 .,J.;%;‘
N5/
, ll\' A
| !
I (41—9

W 7 T o § A,B,C,D &I uganfy :

(A)A-atfs; B-wTar  ATa;  C-URAT;
D-T4Ig &7

(B) A-wr+1ie1a 8T, B-uifw; C-Ta1 A19;
D-grgel

(C) A=3ar 1er; B-gsgar; Camierg a1, D-a

(D) A-U*q&T;  B-"aT ard;  C-uify;
DRI T

fAfaRad @l 3 @ SHFAT HUF T 22
(A)JIRT YOI P YNUT TJAT FHATSIZIATTATSS
B Yfd U FRA ®

(B) AURT WRIfFRGE AT 3id: Al Ul @ avE
F1d HRaAr ®

(C)JURT TA Ta, UFZIo TAT YIRS Bl
I HIAT B

(D) FIfEHTd, Urelfded, arsifad &1 R wran
@ 9 # B AT HH B AT B
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161.

Identify part A,B,C,D from the above diagram

(A) A-Copper T, B-Male condom; C-Female

condom; D-Implants

(B) A-Copper T; B-Implants; C-Female

condom; D-Male condom

(©) A-Implants; B-Copper T, C-Female

condom; D-Male condom

(D) A-Implants; B-Copper T; C-Male condom;

D-Female condom

162. Which theory explains origin of universe
(A) Special creation theory
(B) Big-Bang theory
(C) Oparin haldane theory
(D) Abiogenesis

163. Famous swan neck experiment was done by
Louis pasture. Which theory was prove by this

experiment :

(A) Abiogenesis

(B) Special creation theory

(C) Biogenesis

(D) Cosmic panspermia theory

164. Analysis of meteorite content and Miller's

experiment proves that :
(A) Chemical evolution
(B) Biological evolution
(C) Organic evolution
(D) Co-evolution

161.

162.

163.

164.

W 7 T o § A,B,C,D &I uganfy :

(A)A-BTR 21; B-y&y ded; C-El dsiF;
D-3faxig

(B) A-fuR &Y, B-3faRy; C-&l dHer; D-Joy
HSH

(C) A=3TRIY; B-dIux &, C-\l dher; D-Joy
HSH

(D) A=3ARIM; B-®MR &, C-y&y  deM; D-HA
HSH

FETUS B IART BT HIAT RIgla FHar 2
(A) faRkre gie &1 Rigid

(B) fa - Rigia

(C) MRe Boed Rrgid

(

D)wa: o9 &1 fagid

gig &9 AT YT ged UIReR g1 B wn
o7 | I JA e fRigia a1 gfie @war @

NENIEISESEE]
B) faf¥re gfte &1 Rigia

(
(C) Sirard Sirarcafy Rigid
(

D) &iRme dawafiar Rigla

Iebrall I JATIRGAT & fazeiyor ot feR &1
TN fhd g o_an ®

(B) 9fdw fawra
(D)wE Ifgara

(A) XIS faDra

Q) Fdf® Sfgdr
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165.

166.

167.

168.

169.

Oparin of Russia and Haldane of England
proposed that the first form of life could have
come from pre-existing ___A__ organic
molecules and that formation of life was
precededby B

(A) A = Living, B = Chemical evolution

(B) A =Non living, B = Organic evolution
(©) A =Nonliving, B = Chemical evolution
(D) A = Living, B = Inorganic evolution

Evolution can be best explained by :
(A) Omnis vivum ex ovo or vivo

(B) Omnis cellula e cellula

(C) Chemical evolution

(D) Descent with modification

First life was originated in :

(A) Sea water (water environment)
(B) Land

(C) Air

(D) Both A'and B

Identify the correct match from column-I and
column-II :
Column I Column II
A. Invertebrates 1./ 350 mya
formed
B. sea weed plants 2. 65mya
C. Jawless fish 3. 500 mya
evolved
D. Extinction of 4. 320 mya
dinosaurs

(A)A-3,B-1,C-3,D-2
(B)A-4,B-3,C-1,D-2
(C)A-3,B-4,C-1,D-2
(D)A-1,B-3,C-2,D-4

A zoology student carefully observing mouth
parts of honeybee, Butterfly, Mosquito and
Cockroach and he saw that all these insect
have similar basic pattern of mouth parts what
can he conclude from this :

(A) These are homologous organ

(B) They show common ancestory

(C) They show divergent evolution

(

D) All of these

165.

166.

167.

168.

169.

IMURA (F/H) TAT Tosd (370I08) - UAIAS
foar & Sfad &1 yem w@wy qd e
__ A P S7UpEi W AT 3N BT AbHAT
g, A1 Sligq &1 g8 ffor B & @18
Hfed gor

(A) A = Sfdd, B = xEafHe [AeE

(B) A = S99 X2d, B = dral~a fa®rd

(C) A = Sfig f2d, B = xarafe fdar

EEary

(D) A = Sfad, B = sf@Ta® fa

IEMABIE BT A< T8 FHAT S Fhdll o
(A)AHE d185a9 UHd 3idl 3R drar |

(B) 3T AT § Aell |

(C)xarfs Sfgaw™ 4

(D) RUTARVT & AT JATARVT

TJH Silae i Il gAl :

(A) | ST H (STl ardraRoT)
(B) ¥ WR
(©)arg 4

(D) A 79T B &I

Column-I @ column-11 ¥ H&I ™ BT T

BT

Column I ColumnII
A. FHIwH! Siig @1 1. 350 mya
B. Wgdl WUGAR 2. 65mya
C. Sigs ?f2d 7well 3. 500 mya
D. SEFHR fige 4. 320 mya

(A)A-3,B-1,C-3,D-2
(B)A-4,B-3,C-1,D-2
(C)A-3,B-4,C-1,D-2
(D)A-1,B-3,C-2,D-4

Ueh UTOIRITE Bl BT AYgAa], fadell #2ur qor
fdereree & J@I @ 98d ST Ydd YeToT Hdl
2, I @l ® % s Wl @iy & gErm @
gATEl e HHE 2| 98 39 a1 ey
fR@Te |dr 2

(A)TE FHOT 3T B

(B) I8 WHI9 Ydoral e 8

(C) Tz R fawrd <ofd &

(D) SWRIFT |7
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170.

171.

172.

173.

174.

175.

176.

The second maturation division of the

mmalian ovum occurs :

(A)Shortly after ovulation before the ovum
makes entry into the fallopian tube

(B) Until after the ovum has been penetrated
by a sperm

(C) Until the nucleus of the sperm has fused
with nucleus of the ovum

(D)In the graffian follicle following the first
maturation division

What is the correct sequence of sperm

formation?

(A) Spermatid, spermatocyte, spermatogonia,
spermatozoa

(B) Spermatogonia,
spermatozoa, spermatid

(C) Spermatogonia,
spermatocyte, spermatid

(D) Spermatogonia, spermatocyte, spermatid,
spermatozoa

spermatocyte,

spermatozoa,

Which of the following cells are diploid during
gametogenesis?

(A)Second polar body
(B) First polar body
(C) Spermatid

(D) Spermatogonia

At the time of birth, development of ovum is
arrested in the form of :

(A) Oogonia (B) Primary oocyte
(C) Secondary oocyte (D)Egg

Manchette of sperm is :

(A) DNA content (B) Mitochondria

(C) Cytoplasmlayer (D)Sperm lysin

In the human female menstruation can be
deferred by the administration of :

(A)FSH only

(B) LH only

(C) Combination of FSH & LH
(D) Combination of estrogen and progesterone

Medical termination of pregnancy is safe :
(A) upto 20 weeks of pregnancy
(B) upto 12 weeks of pregnancy
(C) Second trimester

(D) up to 24 weeks of pregnancy

170.

171.

172.

173.

174.

175.

176.

wafral & eve ¥ fgdg uRuges v grar

e

(A) IS & T A8 WY AT B hAlUA
Aferer § 99 | gd

(B) 5@ EHIY] JAUSTY] Bl H& <dl &

(C) Sid T YehIY & Dradh Bl Foad AVSY B
P=d 9 9 8 WN

(D)ITHIId gfedr § o aRuaqs favres @
RREIG]

YER1Y] T BT UfhaT & | B BT AT B

(A) IERIY] U, YERTY] DIfRIBT, YhTO] AIGDhIRIHT,
pEgR!

(B) YERIY] HIJDIRIBIY YHT] DIRTBIY YhTY],
LTIy

(C) gHTY] ATTHIRIBT, BV, YEHIY DI,
RLERRIER!

(D) YT AIGDITRNGBI, BT BRI, BT,
pEgR!

WG TG D FHG T H Y B DIRIBT

feqfora 8l 87

(A)fgda gaae | (B) 9 gaIa

(C) YshTou<, (D) Zh1Y] AT PIfRADI
ST @ A, 39SV &1 A fa wrawerr #
P! Y&l ¢ |

(A)3IUSTY] A1 PIRIHT (B) wrafies IATSC
(O)fgdis SdArge (D)3T0sT

YT § FAIT BT B
(A)DNA &1 9131
(C) PIRIPIE U=

(B) ATSCIBI~gaT
(D) T TSR

A W AET H AIfe G BT Gared A
gRT RINT fHar 1 Adhdr o—

(A)®ad FSH gRT

(B) ®aal LH gRT

(C)FSH wd LH gRT ¥yad w4 |

(D) UL T4 AIoRGH @ Agad w0 o
THiERel] B FAG BR og b ddhid
(MTP) oo w99 q& g A ol &
(A)TvfaRer & 20 d g9 A&

(B) TfaRer & 12 9 8% A
(
(

O) fgdia ZMrdl a&®
D) THiaRe & 24 § BRI d6
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177. Which is not used as spacing method of birth

178.

179.

180.

181.

182.

control :

(A) Periodic abstinence
(B) Condoms

(©)IUDs

(D) Vasectomy

During fertilization which of the following
structure fuses with sperm?

Select the incorrect statement :

(A) FSH stimulates the sertoli cells which help
in spermatogenesis

(B) LH triggers ovulation in ovary

(C©) LH and FSH decrease gradually during the
follicular phase

(D)LH triggers the secretion of androgens
from the leydig cells

Scapulais a large triangular flat bone situated
in the dorsal part of the thorax between the :
(A)Second and fifth ribs

(B) Second and seventh ribs

(C) Third and eight ribs

(D) Fourth and seventh ribs

Match the following and choose the correct
option :
Synovial Joint Bones Involved
(A)Balland Socket ~ Carpal, metacarpal of
thumb
(B) Hinge Humerus, pectoral
girdle

Atlas, Axis
Knee

C) Pivot
D) Saddle

(

(

Identify the correct match :

(A) Progesterone - Corpus luteum
(B) Oestrogen - Posterior pituitary
(C) Relaxin - prostate gland

(D) Oxytocin - Anterior pituitary

177. fA=faRag & 9 19 A1 9 3 & IFfdRTd

fafr § IuarT 98 BT 2
(A) e fav (B) BusIH
(C) IUDs (D) TE

. 92 & SRM B9 —A1 |RET YHh1v] A AR
BIcl 87

. A DT dT gHIq PITY

(A)FSH gMie._HeTell SIRI®RI & o
FEradr & forg ARG wRar 2|

(B) LH 14 3vSRer ¥ 30eIcas &I IRT dvar
g

(C)gfear™ ez & SR FSH vd LH &1
TR GN-dR &H BT 2 |

(D) AIfST DIfehT gIRT YUgISA &1 a0 LH
S ¥ | BT B

. Scapula & I FoeR Ul iR erfl &

S 98T d U8 HET A q & 99
CRCERTICI IR

(A)TE g ul=dl gHel)

G EGANCESIREIENE]

(C) T g 3radl adel!

(D)=l 9 ATadl u-ell

. FrefaRaa &1 gafaa sRA 9 921 fadey

agAfaaa |9t silRe™At

(A)T=d GfedddT IS BT BIUA, ACTHIIA
(B) &l BLARY 3 HY el

(C) Pivot eed, ufaay

(D) Saddle g

182. 981 AT &1 IgT BN :

(A) TIORERIT - B4 I
(B) RIS - U%el GIgy Uy
(C) Rl - diee 3ol

(D) TR - o digy Ufey
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183. During muscle contraction, there will be no  183. ®aoreil UfdRIT & SEACE] P SR gRdaT Tl
changein: 21T

(A)length of H. zone. (A) ﬁ-ﬁa & oTErE §

(B) length of an isotropic band. (B) THER® Jus B ofwrg H
(C) length of myosin filaments. (C) AR =g BT oreTg A
(D) legnth between two consecutive Z-line (D)?f AR Z-Xral & & orers o

184. Select the correct option ? | 184, 8 Rped @1 - ,
(A) I;fv::; S—> Controls the amount of light that (A) 3 > T T Eﬂaﬁ e % T
(B) IRIS — Image get formed AT @ &
(B) uRaReT — v &1 fomfor grar &
(C)ART — UHI Bl ASHR A T Bl &l
USH B ©

(D)BIfdaT — s1fiFHa gfte

(C) Pupil — Bends light and protect inner eye
(D) Fovea - Maximum vision

TOPPERS’ TALK TOPPERS’ TALK TOPPERS' TALK

el Akt 1 A% - o, aee "When it comes to preparations | spent one year at Deeksha. In
TS a2 ST FAREE H1 S ) oa for JEE, there is no institute better Deekshal have covered each and
TS | 3 7 T’I afim 'w"?P’ A than Deeksha in Jodhpur. The every topic asked in the IIT-JEE in
“EW?TTH‘PT‘W:;’TFMFTFT““-HTI‘?FTT’ environment was very that time. | was a regular student
FeATHSt B WA forn o 93 Fga = 3n of the 1 year IIT-JEE batch at
T TEH R T A9r 3HE 6 g : Deeksha. The teachers are very
TR g9 FEl OEiEE GwE & e The ‘guiddibes, of “ARUDRGY OIf cooperative and motivating. The
=i faeera ot 6 & | 7ol 1 e agd made physics my strongest presentation of the subject
R B T & e faenfi = point. The faculty guided me helped us to grasp the intricacies
ST =EE & HI9 90 &, el o =2 during all the rough patches of the subject. Also the
feftaet it g 3t 7 | e s & and was available for any kind of environment at Deeksha is very
ERERE H4E ATt S 3 53 A s help 24x7." stimulating and congenial for
ArfEYE geE ) | e Fes @ studies. The regular tests and
A W AR ° AN S S continuous monitoring helped in
Ve ey B g 1 E & | A8 Wit clearing IIT-JEE.

TS 31 5 5763 a7 HEA 7 |

competitive and motivating.

UTTAM CHOUDHARY BHAVIK SUTHAR PRAVEEN CHOUDHARY

liIT-Hyderabad lIT-Bombay lIT-Madras

it

Corporate Office : Deeksha Tower - 3, Section 7, New Power House Road, Jodhpur (Raj.) Call : 7413053555 | Deekshaclasses.com




Sampler Paper : NEET-UG

41

185.

186.

187.

188.

189.

190.

191.

Which of the following group of hormones
have same source organ :

(A)FSH, LH and oestrogen

(B) ADH, Aldosterone and erythropoeitin
(©) GnRH, TRH and Somatostatin

(D) Prolactin, aldosterone and gonadotrophins

ZOOLOGY # Section B

Which of following organelle is not present in
almost all plant cells :

(A) Vacoule (B) Plastid

(C) Mitochondria (D) Centrioles

Which one is the continuous with outer
membrane of nucleus :

(A) Golgibody (B) SER

(O RER (D) Lysosome
Homologus chromosomes are separate in

which phase of meiosis :

(A) Anaphse I (B) Anaphasell
(C) Prophase I (D) Metaphase I
Select corect option, when volume of body

fluid increases :

Osmoreceptor ADH Water
ceusecretion reabsorption

(A) Switchon ) 2
(B) Switch off ) f
(C) Switch off J 3
(D) Switch off ) \’
Common carp, silver carp, grass carp are :

(A) Indegenous fishes (B) Fowl
(C) Cattle (D) None of these

Select the incorrect statment about drone :
. Itis fertile male
. Itis haploid
It feeds on royal jelly

. Maximum in colony
)e, (B)b,c, d

a
b
c.
d. Twosting
e
(A
(C )c,d e (D)a, b, c

185.

186.

187.

188.

189.

190.

191.

= 9§ 9 @A g g UH 8 9Id R |
arfad ed @

(A)FSH, LH vd T&Ioi=

(B) ADH, TcSERIM Ud gRemigied

(C) GnRH, TRH Ud dMeRefeT

(D) Ureifdes], TeeIERIA Ud MHeIglfu=4

ZOOLOGY # Section B

71 9 | DITAT BRIGAT AfHera: | ureal
@ HIRTHRN § SuRerd =g g ?

(A) Rfdrcapt (B) oa®

C) ATSCIBIfogaT (D) dTRED=

D DI AR fPreell & A1 IFaRT DI JSI
BIAT © :

(A)Golgibody (B) SER

(CO) RER (D) Lysosome

SR TS T b afaReIT # AT YOI

9 Bl 8

(A) Anaphse T # (B) Anaphase IT#
(C) Prophase I'H (D) Metaphase IT §
T4 IR § IR I H gfg B 7, AT DIAr

fJhed /= B :

URIERT TS ADH S g
AT SENIEU]
(A)afora 0 \2
(B) it T T
(C) fspa \ 1
(D) i T 1
FAA i, Riear @wrd, a9 $1d 2
(A)9Rd Hofedl  (B) 7901
(C) 7areh D)gTH | PIg el

S B IR FH I HYT DI ygdl
a. U8 SFFeH TR ®

b. ¥ 3rfra exT 8

c. A I Sie @iy ®

d. T & 3uRerd

e. H@ﬁﬁ?ﬁﬂaﬁ%‘sﬁ%
(A)e, (B) b, ¢, d
()c,de (D)a, b, c
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192. This graph indicate which type of natrual

193.

194.

195.

196.

selection :
Peak shifis in
one direction
Natural
selection
(A) Diregional (B) Stabilising
(C) Distruptive (D) Mutation
The brain capacity of Homo habilis was :

(A)1200 cc
(C) 650 - 800 cc

(B) 1450 cc
(D)1200 - 1400 cc

Erythroblastosis foetalis can be avoided by
administering to the mother

immediately after the delivery of the first
child:

(A) Rh-antigen

(B) Antibiotics

(©) Anti-Rh antibodies

(D) Vitamin-K

Which can generate the maximum number of
action potential i.e., 70-75 min~! and is
responsible for initiating and maintaining the
rhythmic contractile activity of the heart?
(A)S.A. Node

(B) A.V. Node

(C) Medulla oblongata

(D) Bundles of His

Read the following step and findout a, b, c &
d:

A. Starch

Salivary

—_—

amylase

o - Dextrin + (a)
B. Maltose — Glucose
. Trypsinogen 9, Trypsin

C
D. Sucrose —&9 4 (d) + Fructose

(A) (a) = Ptylin ; (b) = Maltase ; (c) Ca**;
(d) = Glucose

(B) (a) = Maltose ; (b) = Maltase ;
(c) Enterokinase ; (d) = Glucose

(©) (a) = Glucose ; (b) = Pepsin ; (c) Ca*?;
(d) = Maltose

(D) (a) = Amino acid ; (b) = Invertase ;
(c) Enteropeptidase ; (d) = Glucose

192. 98 U 9 UHR &1 UIGidd aroT Fefid

193.

194.

195.

196.

HIAT B
Peak shifis in
one direction
Natural
selection
(A) feercHs (B) IR
(C) faafera (D) caRad=
gl efdfora &1 aRkase emar o -
(A)1200 cc (B) 1450 cc
(C) 650 - 800 cc (D) 1200 - 1400 cc

RN fhefora & g=- & forw |rdr &1
TG & G 9] BT IYIRT HIAT AT

(A) Rh-t<ra
(C) Rh-yfciRel

(REICIRIED
(D) faerfi=-K

DI FIY P fhar faqa Ya1 R |l 2, i
U fAFe H 70-75 8 TAT gad B AAHD Hagd
(RefA® HI¢IM) &I UR™ &RAl & AT F41Y
REdT © ?

(A)S.A. TS

(C) A=l SAIC]

1 =RON &1 ufey 3R a, b, ¢ & d gAY :

Salivary
—_—

amylase

(B) A.V. i3
(D)f2w & gvsd

A. Starch o - Dextrin + (a)

B. Maltose L} Glucose

. Trypsinogen ., Trypsin

(Sucrase]

—=—" (d) + Fructose
a) = Ptylin ; (b) = Maltase ; (c) Ca*?;
d) = Glucose

= Maltose ; (b) = Maltase ;

C) nterokinase ; (d) = Glucose

= Glucose ; (b) = Pepsin ; (c) Ca*
= Maltose

D) (a) = Amino acid ; (b) = Invertase;
c) Enteropeptidase ; (d) = Glucose

C
D. Sucrose
(A

~.
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197. Which of the following is not the correct match

198.

199.

200.

of disease ?

(A)Glomerulonephritis - Inflammation of
glomeruli of Kidney

(B) Ureamia - Blood cells pass through urine

(C) Hypertension - Blood pressure higher than
140/90

(D) Renal caliculi - Stone in Kidney

A young infant that feed entirely on mother's
milk which is white in colour but the stool
which the infant passes out is quite yellowish.
This yellow colour due to ?

(A) Gastricjuice (B) Pancreatic juice
(C) Bile juice (D) Intestinal juice
How do sympathetic neural signals affect the

working of the heart?

(A) Reduce both heart rate and cardiac output

(B) Heart rate is increased without affecting
the cardiac

(C) Both heart rate and cardiac output increase

(D)Heart rate decreases but cardiac output
increases

Which of the following is the correct match of

disease ?

(A) Angina - Acute chest pain

(B) Heart failure - Heart stop beating

(C) Hypertension - Low blood pressure

(D) Tachycardia - Heart beats rate lessthan
normal

197. =1 ® O o991 RQAeR &1 e 9 =g 2 ?

198.

199.

200.

(A)TTE8 AT - b & [eB A Pl YaTEdhdl
(B) IRMAT - 7 H & BIRDB BT ST

(C) afcr a1 - 140/90 & ¥ oI <19
(D)3 DADATS - Jdb H YA

% fdemet BieT R dad AU+l Jl & gY & 8
I HRAT B, ST ABE I BT BT § AR 98 S
faseT aTER MeTadr § — SH@T T Qe BT @
g el X7 fhdd PHIROT SMAT BT © ?

(A) TSR 4 (B) 3T I

(C) fomr =4 (D) 313 ¥

IHU ARG Fobd gad & HRI—HFATAT B

DA ywIfdd HA € ?

(A)EeT wWed T 3R ged e @l wH
BB

(B) g<d wWed Wfd gey ferd wR fadr ywrg
&y 9¢ ol ©

(C)gs¥ WeA 0 3R gy o™ <l 93
SIS

(D) g3y We= A BH & ol 8, oifdhs gad
e g SIrar @

o= o @ o9 AR &1 few 98 8 2
(A) TSI - U9 H a9 &4

(B) 3T e - e GHT BT da BT

(C) Jifaaa - o /9 H HHI

(D) THIHIEAT - &I Wed T AART 4§ HH
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SRS & o v S ST 2
fATe 99 g - 31 Md a1oig

A1 e, AT A%, At & 7 & Si B
§3-93 W 21 STTd &1 319 SraTet i 3777 ot & i #)

g aefg
FECRECHET
e Feast . .
T 9 | e fawn § %
e & Wy T T TEE
= g 1 1 T T 2
T AT TEA B H T
W | MR 1 &l fEeme
o T | T e © e A
1 2w % | maifesr vfafEm
HrgH! § YR T
e & vy FwE vd @
S SVE =i 5 | E
WTERL | T G qenm o
ST SiE A W S
0 M feAl & el | =i
i = € 5 2 1972
F I WS & el el |
I W =g © A TEn
T gl | T . Skl TE
Term w8 a we
WAl § 97 TiAd A= T
| =Teia A € o e g
T B & FA0 5% 947 % T80
wEA | <fe w9 e | =
e o o s e 3
TR T 2 A 1985 F wE
9% 12 99 % & s T =
=4 | I = T fam =
T o A T AL qHA gt A
S UF F @l = Tern T
= 9 VE-aeT W TEE
Fretiam AvTier @ | 35
T 3= T 7 3 9wt
Temedt ot = =1 9eE T 6 |
- TF FT T TR AN
T AEF A e HE -
FEAT F GG FAG AT
AT Hi Sl FE T9E el
T E i AT TR i
THUAHIEE ST ST
Eak oA ualtc i clenich 4
T T 12747 = wien Afiz &
ST T 3 itfer o
-9 Sk Sfela R

gHEAT F Ugeran & TR
Aoty = # T a5 9 199  duwE |
FerEE A g O g Frf # Ee e
vz o 7 A sy W A e
el H I = | ARl T g g ggE
Fea & AR = g s A e =
iR F 7 = ® i Fm g A W
T =T B T B fraf w5 AR
0 i § Wi e WA L e
s = fo 9 wm 29 w2 e o) Al
i T S FT 78 TR T WO
Tayara a1 ws a7 g3 52 nife
fort & = 3o % form el @ 0 ) vl
Wit v feafa 1 e g e ww At
T WA SO A TR WA e A
oA i1 A g % faan ) anferEr | A
T TF | T A 92 AR
RIS SEGAE 7 G2 5T T 36l 0
fae | T 7 T T fraf o =

A B <1 AT TE e 2 U
SR SETE  NE A s m
Fhal ¥ T FE0 A A a0 | 5
ft T T | T == T 91 = A
=3 Wi deftfen Hie AT g3 T e
# W0 | 59 A e W s § i
SATGEET e A T U e e
ST el TR E T |
e e A A T e e
= ot =ieraer T E e

I T FNT T 0 T Ul F S
e 3 e 2 A R e we
i 1 98 T gl W T IS F DR
T G A el e g % A
M & 5% =2 % 9= 51 U
feem sr =7 | T s 9w S
1 1 EEE i W e |
T FaE W F I =W T W =
=1 F e F AT e w1y e
| 39 S FE-TH F RS e FEd
gt g FY 5 il e veen v
= fom | 75 & At W Tt

s At = - afewe d TEe B o
oy By aqenfaaTy =g o | 59 5FF 1
s Wl FE w dan & e
37 1 T ¥ T W T A
it # 5 =N

e o seema % fon @8 e

TE T T T AW & T WA G A
= 1 wyrafer J=0 9 w4 fern sw o
3 i s o T A wfAa € e
eI F it # e A 9w =
T T 0| I A A A 0 A A
o =i wwn o e i T ar=m B
T = 4 T Ao F e g o
TR B WA H e SO 344 SE 9
o | v T = HE e, o
FRHA F 2N 70 T EEE
frem = o s S FA IR 9 T Am
1 i Tl e T ) w3 e i
TIRTEA T ST TEem 4 5
a9 fan sin =k w=m & arg Fawt A
AR T WY TR WA T A
o1 e foan

UG op Ui & TR0 BIS!

VeI Fen i S I e

ity wam § T vt de F e, e
HIe FF U YOTHE Afn g i
S+ | HET 3 FHEEE ST 36 T
B % WSS e A 1w A we
= =i | T T ey S F a5 am
# 1 fr e A o wEm-wEa A A

31wd A 3R 7 gmTafh 3 Asgq P-
Fad A Ru Rm FaR e digesm |
&l =T W & dl wed & vid gadu

& wad Hgeayel &1

Cass0om Sesshn

= i A A TN H T T
A Ha % A s gl e E afan
FuEre o | w4y T = . wemafs 3
& agaRm it A F SR S w
i w1 A #i e e e
2003 B Ste FoEw w1 AT @ S TE
s Forer g8 ford et e
Ao qE T = W Tg e = e
it A A R S
AT W | S A S
ferenfeieit =1 5 § 1 W w5 Tea F AR
3 A i T farEr @9 ) FEm
T w7 5 T W F RN g A
it T fagm § wwem #1967 =@
form 75 ¥ =7 ww W T e R
S W o

ST 30 HeAH & HeAH 9 §1 gEfas
FATFTI F TR T T % T e
AL FEVEYF % Sara ATd =Y
o e et = R
ArETH o I9EE T & Wy A
e =1 ot O T T T f famd e
o e TR ] FE A e el i
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F_,




+" YEARS OF DEEKSHACLASSES.COM

-/ TRUST

myS EAT

Scholarship Eligibility cum Admission Test

For Class 7th to 12th
JEE | NEET | PRE-FOUNDATION

Upto 100% Scholarship




diefed "Baad & |
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